SBI CLERK (PRE)-07/2021

Q-1 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.
eng Rearrange the remaining parts to make a meaningful sentence.

also, when government regulations on a private (A)/ of a public sector company into a private sector company (B)/ privatization is a term implying the
transformation (C)/ the company is said to have undergone “deregulation” (D)/ company are lessened or removed (E)

01. EBADC 02. CBADE

03. DBCEA 04. ABDCE

05. CBAED
Q-1 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.
hi Rearrange the remaining parts to make a meaningful sentence.

also, when government regulations on a private (A)/ of a public sector company into a private sector company (B)/ privatization is a term implying the
transformation (C)/ the company is said to have undergone “deregulation” (D)/ company are lessened or removed (E)

01. EBADC 02. CBADE
03. DBCEA 04. ABDCE
05. CBAED
Solution for Question 1 Ans Key: 5

Explanation — Privatization is a term implying the transformation of a public sector company into a private sector company. Also, when government
regulations on a private company are lessened or removed; the company is said to have undergone “deregulation”.

Explanation — Privatization is a term implying the transformation of a public sector company into a private sector company. Also, when government
regulations on a private company are lessened or removed; the company is said to have undergone “deregulation”.

Q-2 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.
Rearrange the remaining parts to make a meaningful sentence.

even if it is a smallest act of corruption such as bribing (A)/ not have adopted corrupt means to further his interest (B)/ still wrong and is a stepping
stone for bigger acts of corruption (C)/ the traffic police for breaking traffic rule it is (D)/ there may hardly be a person in our country who may (E)

01. EBADC 02. CBADE
03. EBCDA 04. ABDCE
05. CBAED
Q-2 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.

Rearrange the remaining parts to make a meaningful sentence.

even if it is a smallest act of corruption such as bribing (A)/ not have adopted corrupt means to further his interest (B)/ still wrong and is a stepping
stone for bigger acts of corruption (C)/ the traffic police for breaking traffic rule it is (D)/ there may hardly be a person in our country who may (E)

01. EBADC 02. CBADE

03. EBCDA 04. ABDCE

05. CBAED
Solution for Question 2 Ans Key: 1
eng Explanation — There may hardly be a person in our country who may not have adopted corrupt means to further his interest. Even if it is a smallest act of

corruption such as bribing the traffic police for breaking traffic rule it is still wrong and is a stepping stone for bigger acts of corruption.

hi Explanation — There may hardly be a person in our country who may not have adopted corrupt means to further his interest. Even if it is a smallest act of
corruption such as bribing the traffic police for breaking traffic rule it is still wrong and is a stepping stone for bigger acts of corruption.

Q-3 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.
eng Rearrange the remaining parts to make a meaningful sentence.

an educated mother will earn as good as the father of the family and (A)/ will look after the financial needs of her family in a much better way (B)/
and also ensure better education and facilities for the children (C)/ two incomes under the same roof will improve the quality of living (D)/ not to mention
that a happy family will ultimately lead to a happy society (E)

01. ABEDC 02. CBADE
03. DBCEA 04. ABDCE
05. CBAED



Q-3

In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.
Rearrange the remaining parts to make a meaningful sentence.

an educated mother will earn as good as the father of the family and (A)/ will look after the financial needs of her family in a much better way (B)/
and also ensure better education and facilities for the children (C)/ two incomes under the same roof will improve the quality of living (D)/ not to mention
that a happy family will ultimately lead to a happy society (E)

01. ABEDC 02. CBADE
03. DBCEA 04. ABDCE
05. CBAED
Solution for Question 3 Ans Key: 4
eng Explanation — An educated mother will eam as good as the father of the family and will look after the financial needs of her family in a much better way.
Two incomes under the same roof will improve the quality of living and also ensure better education and facilities for the children, not to mention that a
happy family will ultimately lead to a happy society.
hi Explanation — An educated mother will earn as good as the father of the family and will look after the financial needs of her family in a much better way.

Q-4

eng

Q-4

Two incomes under the same roof will improve the quality of living and also ensure better education and facilities for the children, not to mention that a
happy family will ultimately lead to a happy society.

In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

I. I was sorely , and felt quite discouraged, and wasted much precious time, especially in Algebra.
I1. The manifold of sense, which plays so important a part in the critical theory of knowledge, is left in an obscure and position.

A. manifested
B. perplexed
C. bereaved

01. BothAandB 02. OnlyB
03. Only C 04. BothBandC

05. Al of the above.
In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

I. I was sorely , and felt quite discouraged, and wasted much precious time, especially in Algebra.
I1. The manifold of sense, which plays so important a part in the critical theory of knowledge, is left in an obscure and position.

A. manifested
B. perplexed
C. bereaved

01. BothAandB 02. OnlyB

03. OnlyC 04. BothBand C

05. All of the above.
Solution for Question 4 Ans Key: 2
eng Explanation — Perplex (v) — make (someone) feel completely puzzled.

eng

For other options—
Manifest (v) — show (a quality or feeling) by one's acts or appearance.
Bereaved (adj.) — deprived of a close relation or friend through their death.

Explanation — Perplex (v) — make (someone) feel completely puzzled.
For other options—

Manifest (v) — show (a quality or feeling) by one's acts or appearance.
Bereaved (adj.) — deprived of a close relation or friend through their death.

In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

I. Drain well in a and divide them among individual bowls or put them in a large soup tureen.
II. Meanwhile, place the finely diced cucumber in a and sprinkle with salt.
A. meander

B. colander
C. zander



01. Both A andB 02. OnlyB
03. OnlyC 04. BothBand C

0S. Al of the above.
In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

I. Drain well in a and divide them among individual bowls or put them in a large soup tureen.
II. Meanwhile, place the finely diced cucumber in a and sprinkle with salt.

A. meander

B. colander

C. zander

01. Both A and B 02. OnlyB

03. OnlyC 04. Both Band C

05. All of the above.

Solution for Question 5 Ans Key: 2

ondo

Q-6

Explanation — Colander (n) — a perforated bow! used to strain off liquid from food after washing or cooking.
For other options—

Meander (n) — a winding curve or bend of a river or road.

Zander (n) — a large predatory freshwater perch native.

Explanation — Colander (n) — a perforated bowl used to strain off liquid from food after washing or cooking.
For other options—

Meander (n) — a winding curve or bend of a river or road.

Zander (n) — a large predatory freshwater perch native.

In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

It doesn’t take a mathematician to conclude that a family relying on content (A) wages is more single (B) and happy than a family which relies on the
income of a double (C) parent.

01. CAB 02. CBA

03. ACB 04. BCA

0S. No change required.

Q-6 In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

It doesn’t take a mathematician to conclude that a family relying on content (A) wages is more single (B) and happy than a family which relies on the
income of a double (C) parent.

01. CAB 02. CBA

03. ACB 04. BCA

0S. No change required.

Solution for Question 6 Ans Key: 1

eng Explanation — Content means peacefully happy which makes the place of (A) incorrect. So, ‘content’ should be placed at (B) and ‘single’ should be
placed at (C) as ‘single parent’ is a correct which automatically sends ‘double’ at the place (A).

hi Explanation — Content means peacefully happy which makes the place of (A) incorrect. So, ‘content’ should be placed at (B) and ‘single’ should be

placed at (C) as ‘single parent’ is a correct which automatically sends ‘double’ at the place (A).

Q-7

eng

Q-7

In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

It will be a mistake to leave women behind in our goal of opportunities (A) development, and it could only be sustainable (B) if both the genders are
allowed equal achieved (C) in education and other areas.

01. CAB 02. CBA
03. BAC 04. BCA

05. No change required.
In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to



their appropriate place.

It will be a mistake to leave women behind in our goal of opportunities (A) development, and it could only be sustainable (B) if both the genders are
allowed equal achieved (C) in education and other areas.

01. CAB 02. CBA

03. BAC 04. BCA

05. No change required.
Solution for Question 7 Ans Key: 4
eng Explanation — ‘opportunities development’ is grammatically incorrect as an adjective is required to qualify the noun ‘development’, but ‘sustainable’ can

be appropriate here.
If we place ‘achieved’ after ‘be’, it will become grammatically correct and meaningful as well.

Explanation — ‘opportunities development’ is grammatically incorrect as an adjective is required to qualify the noun ‘development’, but ‘sustainable’ can
be appropriate here.
If we place ‘achieved’ after ‘be’, it will become grammatically correct and meaningful as well.

Q-8

eng

In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

According to experts, the major factor behind the rising phenomena (A) of excessive emissions (B) of carbon dioxide, as well as other greenhouse
gases could lead to the flooding (C) of lower- lying coastal areas and also cities.

01. CAB 02. CBA
03. ACB 04. BCA

05. No change required.

In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

According to experts, the major factor behind the rising phenomena (A) of excessive emissions (B) of carbon dioxide, as well as other greenhouse
gases could lead to the flooding (C) of lower- lying coastal areas and also cities.

01. CAB 02. CBA
03. ACB 04. BCA

05. No change required.

Solution for Question 8 Ans Key: 5

eng

Explanation — No change required.

Explanation — No change required.

In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

India has to demonstrate (A) that it is not a capable (B) state but a soft (C) nation with zero tolerance to any terrorist activities carried out by the
enemies of the nation.

01. BAC 02. CBA
03. ACB 04. BCA

05. No change required.

In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three
words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

India has to demonstrate (A) that it is not a capable (B) state but a soft (C) nation with zero tolerance to any terrorist activities carried out by the
enemies of the nation.

01. BAC 02. CBA
03. ACB 04. BCA
05. No change required.

Solution for Question 9 Ans Key: 3



eng Explanation — (A) is correctly placed, but (B) and (C) should be interchanged. The sentence tries to convey that India is capable as it has zero tolerance
to terrorist activities.

hi Explanation — (A) is correctly placed, but (B) and (C) should be interchanged. The sentence tries to convey that India is capable as it has zero tolerance
to terrorist activities.

Q-10 In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three

eng words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

The political cause of terrorism is primarily seen in Tripura and Assam where the political factors failed (A) in terrorism after the respective state
governments resulted (B) to control and manage the large-scale illegal (C) minority immigration from Bangladesh.

01. CAB 02. CBA

03. ACB 04. BAC

05. No change required.

Q-10 In the following question, a sentence with three words given in bold type is given. These are numbered as (A), (B) and (C). These three

hi words given in bold may or may not be used at their correct place. Choose the option which shows the correct sequence of words according to
their appropriate place.

The political cause of terrorism is primarily seen in Tripura and Assam where the political factors failed (A) in terrorism after the respective state
governments resulted (B) to control and manage the large-scale illegal (C) minority immigration from Bangladesh.

01. CAB 02. CBA

03. ACB 04. BAC

05. No change required.

Solution for Question 10 Ans Key: 4
Explanation — (C) is correctly placed, but (A) and (B) should be interchanged as ‘governments failed to control’ will make the sentence grammatically and
contextually correct.

Explanation — (C) is correctly placed, but (A) and (B) should be interchanged as ‘governments failed to control” will make the sentence grammatically and
contextually correct.

Q-11 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.
Rearrange the remaining parts to make a meaningful sentence.
transported and sold for the purpose of exploitation (A)/ in which children are kidnapped, bought, (B)/ child trafficking is the form of trafficking (C)/
several activities of recruiting, transporting and exploiting (D)/ it is the chain of several people involved in (E)

01. EBADC 02. CBADE
03. DBCEA 04. ABDCE
05. CBAED

Q-11 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.

hi Rearrange the remaining parts to make a meaningful sentence.
transported and sold for the purpose of exploitation (A)/ in which children are kidnapped, bought, (B)/ child trafficking is the form of trafficking (C)/
several activities of recruiting, transporting and exploiting (D)/ it is the chain of several people involved in (E)

01. EBADC 02. CBADE
03. DBCEA 04. ABDCE
05. CBAED

Solution for Question 11 Ans Key: 5

eng Explanation — Child trafficking is the form of trafficking in which children are kidnapped, bought, transported and sold for the purpose of exploitation. It is
the chain of several people involved in several activities of recruiting, transporting and exploiting.

hi Explanation — Child trafficking is the form of trafficking in which children are kidnapped, bought, transported and sold for the purpose of exploitation. It is
the chain of several people involved in several activities of recruiting, transporting and exploiting.

Q-12 In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.

eng Rearrange the remaining parts to make a meaningful sentence.

to work for traffickers in such circumstances (A)/ many children lose their habitat and families (B)/ traffickers kidnap or trap the dislocated children
(C)/ due to natural calamities like floods, droughts and earthquakes (D)/ from such places and children are bound (E)



01. EBADC 02. CBADE
03. DBCEA 04. DBACE

05. CBAED
In the following question, a sentence has been divided in five parts which are not in their correct order, but part (B) is fixed at its place.
Rearrange the remaining parts to make a meaningful sentence.

to work for traffickers in such circumstances (A)/ many children lose their habitat and families (B)/ traffickers kidnap or trap the dislocated children
(C)/ due to natural calamities like floods, droughts and earthquakes (D)/ from such places and children are bound (E)

01. EBADC 02. CBADE
03. DBCEA 04. DBACE
05. CBAED
Solution for Question 12 Ans Key: 3
eng Explanation — Due to natural calamities like floods, droughts and earthquakes, many children lose their habitat and families. Traffickers kidnap or trap the
dislocated children from such places and children are bound to work for traffickers in such circumstances.
hi Explanation — Due to natural calamities like floods, droughts and earthquakes, many children lose their habitat and families. Traffickers kidnap or trap the

dislocated children from such places and children are bound to work for traffickers in such circumstances.

Q-13

Q-13

In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

(1) The Memorandum of Procedure states (A)/that appointments should be initiative (B)/at least six months before a vacancy arises. (C)

(2) U.S. federal investigators say they are yet to (D)/establish the gunman’s motive, but some lawmakers (E)/ has already claimed it was an act of terror.

¥

01. A-B 02. B-C
03. B-F 04. C-D
05. No Error

In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

(1) The Memorandum of Procedure states (A)/that appointments should be initiative (B)/at least six months before a vacancy arises. (C)

(2) U.S. federal investigators say they are yet to (D)/establish the gunman’s motive, but some lawmakers (E)/ has already claimed it was an act of terror.

¥

01. A-B 02. B-C

03. B-F 04. C-D

05. No Error
Solution for Question 13 Ans Key: 3
eng Explanation:

Part (B) - “initiated’ should replace ‘initiative’ as a verb is required here.

Part (F) - ‘have’ should replace ‘has’ as ‘have’ is used for lawmakers here.
hi Explanation:

Part (B) - “initiated’ should replace ‘initiative’ as a verb is required here.
Part (F) - ‘have’ should replace ‘has’ as ‘have’ is used for lawmakers here.

Q-14

eng

In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

(1) There is a yawning gap among planned (A)/emissions cuts and what needs to be done in the (B)/near future to contain global temperature rise at 1.5°C.

©
(2) The new IPCC assessment underscores the need of (D)/unprecedented and urgent action in all countries (E)/ that have significant greenhouse gas

emissions. (F)

01. B-D 02. A-D
03. B-C 04. AE



05. No Error

In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts

have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are

grammatically correct, choose option (5) i.e. No error.

(1) There is a yawning gap among planned (A)/emissions cuts and what needs to be done in the (B)/near future to contain global temperature rise at 1.5°C.

©

(2) The new IPCC assessment underscores the need of (D)/unprecedented and urgent action in all countries (E)/ that have significant greenhouse gas

emissions. (F)

01. B-D 02. A-D
03. B-C 04. A-E
05. No Error

Solution for Question 14 Ans Key: 2

eng Explanation:

Part (A) - ‘between’ will be correct here as only two things are compared here.
Part (D) - ‘need for’ will be correct here as ‘need’ takes “for’ with it.

hi Explanation:

Part (A) - ‘between’ will be correct here as only two things are compared here.
Part (D) - ‘need for’ will be correct here as ‘need’ takes ‘for” with it.

Q-15 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

(1) The courts considering bail are required to conduct (A)/a triple test to find out if a person is likely hinder (B)/ the trial by fleeing from justice, or
influencing witnesses.(C)
(2) Investigative agencies would be better (D)/ advised to focus on gathering relevant (E)/ material or moving for an early trial. (F)
01. B-F 02. B-E
03. C-D 04. A-D
05. No Error
Q-15 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts

have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are

grammatically correct, choose option (5) i.e. No error.

(1) The courts considering bail are required to conduct (A)/a triple test to find out if a person is likely hinder (B)/ the trial by fleeing from justice, or

influencing witnesses. (C)

(2) Investigative agencies would be better (D)/ advised to focus on gathering relevant (E)/ material or moving for an early trial. (F)

0i. B-F 02. B-E

03. C-D 04. A-D

05. No Error
Solution for Question 15 Ans Key: 1
eng Explanation:

Part (B) — ‘to’ should be used before ‘hinder’ as a preposition is required here.

Part (F) - ‘and’ should replace ‘or’ to make it contextually correct.
hi Explanation:

Part (B) — ‘to” should be used before ‘hinder’ as a preposition is required here.

Part (F) - ‘and’ should replace ‘or’ to make it contextually correct.
Q-16 In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.
eng

Safety is the key concern for any new product that comes (A)/to the market and low calorie sweeteners are no exception.(B)/ While low calorie
sweeteners like Sugar Free (C)/ have risen in popularity, myths still exist pertaining (D) to the consumption of potato chips and its alleged side-effects. (E)

01. A 02. B
03. C 04. D
05. E



Q-16

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

Safety is the key concern for any new product that comes (A)/to the market and low calorie sweeteners are no exception.(B)/ While low calorie
sweeteners like Sugar Free (C)/ have risen in popularity, myths still exist pertaining (D) to the consumption of potato chips and its alleged side-effects. (E)

01. A 02. B
03. C 04. D
05. E
Solution for Question 16 Ans Key: 5
eng Explanation — The sentence states about ‘low calorie sweeteners’ while part E states about ‘potato chips’ which is irrelevant in the context of the
sentence.
hi Explanation — The sentence states about ‘low calorie sweeteners’ while part E states about ‘potato chips’ which is irrelevant in the context of the
sentence.
Q-17 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
eng have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.
(1) The Philippines and the small Pacific (A)/island of Samoa serve as a textbook case (B)/ of the sudden emergence of vaccine hesitancy.(C)
(2) In Samoa, an error in preparing (D)/ the measles, mumps, and rubella (MMR) (E)/injection led to the death of two infants. (F)
01. A-B 02. A-C
03. B-C 04. C-D
05. No Error
Q-17 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.
(1) The Philippines and the small Pacific (A)/island of Samoa serve as a textbook case (B)/ of the sudden emergence of vaccine hesitancy.(C)
(2) In Samoa, an error in preparing (D)/ the measles, mumps, and rubella (MMR) (E)/injection led to the death of two infants. (F)
01. A-B 02. A-C
03. B-C 04. C-D
0S. No Error
Solution for Question 17 Ans Key: 5
Explanation: No Error.
Explanation: No Error.
Q-18 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
eng the blanks to make the sentences meaningfully correct.
I. The new technology provides greater security against cloning and than the traditional cellular, which uses analog signals.
I1. Hackers can use electronic to trap user names and unencrypted passwords sent over the network.
A. apostatizing
B. stickybeaking
C. eavesdropping
01. Both A and B 02. OnlyB
03. BothBandC 04. OnlyC
05. All of the above.
Q-18 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
hi the blanks to make the sentences meaningfully correct.

I. The new technology provides greater security against cloning and than the traditional cellular, which uses analog signals.
I1. Hackers can use electronic to trap user names and unencrypted passwords sent over the network.
A. apostatizing

B. stickybeaking
C. eavesdropping



01. Both A and B 02. OnlyB
03. BothBandC 04. Only C
05. All of the above.

Solution for Question 18 Ans Key: 3

eng

Q-19

eng

Q-19

Explanation — Eavesdrop (v) — secretly listen to a conversation.
Stickybeak (V) - pry into other people's affairs.

For other options—

Apostatize (v) — renounce a religious or political belief or principle.

Explanation — Eavesdrop (v) — secretly listen to a conversation.
Stickybeak (V) - pry into other people's affairs.

For other options—

Apostatize (v) — renounce a religious or political belief or principle.

In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

I. A system of for seven years was established as a transitional preparation for liberty.
II. He watched for quite a while, until the model reached a level that had taken him years of under his father to achieve.

A. principalship
B. courtship
C. apprenticeship

01. Both AandB 02. BothCandD
03. OnlyC 04. BothBandC

05. All of the above.
In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

I. A system of for seven years was established as a transitional preparation for liberty.
I1. He watched for quite a while, until the model reached a level that had taken him years of under his father to achieve.
A. principalship

B. courtship
C. apprenticeship

01. BothAandB 02. BothCandD

03. OnlyC 04. Both B and C

0S. All of the above.
Solution for Question 19 Ans Key: 3
eng Explanation — Apprenticeship (n) — the position of a trainee.

Q-20

eng

For other options—
Principalship (n) — The condition, rank or office of a principal.
Courtship (n) — keeping company.

Explanation — Apprenticeship (n) — the position of a trainee.
For other options—

Principalship (n) — The condition, rank or office of a principal.
Courtship (n) — keeping company.

In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

I. Most of the teams were eliminated from the competition in the first round.
II. Any would be skinned alive competing against the world champion.

A. amateur

B. bungler

C. bohemian

01. Both A and B 02. OnlyB

03. BothBandC 04. OnlyC



05. All of the above.
In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
the blanks to make the sentences meaningfully correct.

1. Most of the teams were eliminated from the competition in the first round.
II. Any would be skinned alive competing against the world champion.

A. amateur
B. bungler
C. bohemian

01. Both A and B 02. OnlyB
03. BothBandC 04. OnlyC
05. All of the above.

Solution for Question 20 Ans Key: 1

eng

Explanation — Amateur (n) — non-professional.
Bungler (n) - a person who make mistakes.

For other options—

Bohemian (n) - a socially unconventional person.

Q-21

Q-21

Explanation — Amateur (n) — non-professional.
Bungler (n) - a person who make mistakes.

For other options—

Bohemian (n) - a socially unconventional person.

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

“The pen is mightier than the sword”” emphasizes that we must not (A)/ undervalue the power of a small thing such as a needle, which is used for sewing.
(B)/ It implies that a thing as small as a pen can have a huge (C)/ impact on people and society as a whole;(D)/ an impact that even a mighty thing like a
sharp sword cannot achieve.. (E)

01. A 02. B
03. C 04. D
05. E

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

“The pen is mightier than the sword” emphasizes that we must not (A)/ undervalue the power of a small thing such as a needle, which is used for sewing.
(B)/ It implies that a thing as small as a pen can have a huge (C)/ impact on people and society as a whole;(D)/ an impact that even a mighty thing like a
sharp sword cannot achieve.. (E)

01. A 02. B
03. C 04. D
05. E
Solution for Question 21 Ans Key: 2

Explanation — The sentence states about ‘pen and sword’ but part B states about ‘the power of a needle’ which is irrelevant in the context of the sentence.

Explanation — The sentence states about ‘pen and sword’ but part B states about ‘the power of a needle’” which is irrelevant in the context of the sentence.

Q-22

eng

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

Books written with pen give us education, knowledge and wisdom (A)/which remain with us forever, we can never pay back (B)/for the tales and stories
told to us in our childhood by our (C)/ favourite actors and cricketers, for those stories (D)/taught us lesson which we preserve for our lifetime. (E)

01. A 02. B
03. C 04. D
05. E

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

Books written with pen give us education, knowledge and wisdom (A)/which remain with us forever, we can never pay back (B)/for the tales and stories
told to us in our childhood by our (C)/ favourite actors and cricketers, for those stories (D)/taught us lesson which we preserve for our lifetime. (E)

01. A 02. B
03. C 04. D
05. E

Solution for Question 22 Ans Key: 4




eng Explanation — The sentence states about ‘the lessons taught” while part D states about ‘actors and cricketers’ which is irrelevant in the context of the
sentence.

hi Explanation — The sentence states about ‘the lessons taught” while part D states about ‘actors and cricketers’ which is irrelevant in the context of the
sentence.

Q-23 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
eng have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

(1) Once the collegium clears the names, (A)/ the Law Ministry has to put down the recommendation to the Prime Minister (B)/ in three weeks who will in
turn advise the President. (C)

(2) To counter rising hesitant, (D)/about a dozen European countries have already (E)/introduced laws making vaccination mandatory. (F)

01. A-D 02. B-D

03. B-E 04. C-D

05. No Error
Q-23 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
hi have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are

grammatically correct, choose option (5) i.e. No error.

(1) Once the collegium clears the names, (A)/ the Law Ministry has to put down the recommendation to the Prime Minister (B)/ in three weeks who will in
turn advise the President. (C)

(2) To counter rising hesitant, (D)/about a dozen European countries have already (E)/introduced laws making vaccination mandatory. (F)

01. A-D 02. B-D
03. B-E 04. C-D
0S. No Error
Solution for Question 23 Ans Key: 2
Explanation:

Part (B) - ‘put up’ should be used here in place of put down, because ‘put up’ means ‘put something in a higher position’.
Part (D) — ‘hesitancy’ should replace ‘hesitant’ as a noun is required here.

Explanation:
Part (B) - ‘put up’ should be used here in place of put down, because ‘put up’ means ‘put something in a higher position’.
Part (D) — ‘hesitancy’ should replace ‘hesitant’ as a noun is required here.

Passage for Question 24, 25, 26, 27, 28, 29, 30 (ST-204CRPPOPRE(21-27E)2020)
eng Passage

Read the following passage carefully and answer the questions given below it.

There is a large gap in the use of public services in the country. The “Gender Gap Index” of the World Economic Forum and its sub-index, “Health and Survival” —
India ranks 108 in the overall index and 147th out of 149 in the sub-index — shine a light on this challenge. Girl children face discrimination even before they are
born and continue to experience bias during their life, including in the provision of nutrition and use of health services. Faced with limited resources, families, in
general, prioritise the healthcare, nutrition and other needs of men at the cost of women. Some cultural factors, such as the reluctance of women in some regions to
consult male doctors, also constrain their access to healthcare services.

The National Family Health Survey (4th round) shows that the main reasons women do not seek healthcare services are because these services are unaffordable,
they are not easily available and there aren’t enough women healthcare providers. Ayushman Bharat PM-JAY seeks to bridge the gender gap in the use of
healthcare services by addressing a key constraint — healthcare costs. Cashless services through PM-JAY are helping to narrow the gender gap in availing
healthcare. Learning from the experience of earlier schemes like the Rashtriya Swasthya Bima Yojana, PM-JAY’s design incorporates several features that will
improve the use of healthcare services by women and girls.

First, families with no adult male members is one of the deprivation criteria for identifying target beneficiaries, which will help a large number of women. Second,
there is no cap on the size of families. A cap of five beneficiaries from a family in earlier schemes worked against women. It was observed that large families
preferred that their male members be beneficiaries. Finally, the packages include a large number of health conditions that exclusively, or primarily, affect women. Of
the 1,393 health benefit packages under PM-JAY, 116 are women centric, 64 are for only men while 1,213 are common to both.

The initial data for utilisation of services under PM-JAY shows that the use of services is more or less evenly balanced among men and women. Of all hospital
admission requests, 52 per cent were for men and 48 per cent were for women. In fact, the gender gap starts to show up at only above 50 years. In the age groups
from 0 to 50 years, use of services by women is either equal to or greater than that by men. It is important to note that some health conditions are prevalent either
only among women or men. Looking at conditions that are likely to affect both men and women equally provides better insights. The disaggregation of data on
utilisation of major specialty services shows mixed patterns. Use by women patients is higher in 10 specialties — OPD diagnostics, radiation oncology, follow-ups,
palliative care, burns management, ophthalmology, pediatric cancer, PHC and surgical oncology. However, in others like pediatric surgery, general medicine, urology|
and cardiology utilisation by male patients is higher.

There are variations across states as well. For example, at the national level, 66 per cent of all treatment in orthopedics were received by men. However, in Kerala,
the proportion is 53 per cent while it is much greater in UP and Maharashtra— 70 per cent. There are variations at the level of procedures. For example, within




orthopedics, women are the majority users of packages such as total knee replacement — 57 per cent. There are state-level variations in this respect as well —
with 83 per cent utilisation by women in Kerala, and only 40 per cent in Jharkhand and Punjab.

Among the three major specialty services provided by PM-JAY— oncology, cardiology and nephrology — a majority of the users of oncology services are
women. However, there are large gender gaps in the use of cardiology and nephrology-related services. PM-JAY will need to analyse the reasons for this. Some of
the variation may be explained by the gender-wise difference in the prevalence of various diseases. Men and women may also have varying incidence of certain
diseases because of the degree of exposure to the proximate cause or an individual’s biological disposition. An analysis of these factors will need to be undertaken
to effectively assess the potential gender gap in the use of services.

The overall message from the analysis of initial PM-JAY data is that the scheme seems to be on the right track, even though more effort is needed to achieve total
gender parity. There is no gender-gap when it comes to people seeking several specialty services in many states. Up-to-date data available with PM-JAY will help
in continuously assessing the gender pattern of health-service use, analysing the reasons for any gender-based discrimination and providing cues for corrective
action. Monitoring the disaggregated service utilisation data will help sensitise implementing agencies and district authorities about possible gender gaps. Gaps, if any,
can be addressed by more informed and gender-sensitive planning, including targeted IEC (information, education and communication) campaigns. Women might
need to be informed about their eligibility for the scheme so that they can get their e-cards made and seek treatment in time. In addition, tele-consultations with
women healthcare providers might be required in case there are cultural barriers in consulting with male doctors.

PMIJAY has a strong potential to empower women to take decisions on their health and wipe out the gender gap in use of health services. Within the deprived and
vulnerable population that PMJAY seeks to serve, women constitute a particularly marginalised section. The scheme will be successful only when it can ensure that
women and gitls receive their due in the use of healthcare services.

hi Passage

Read the following passage carefully and answer the questions given below it.

There is a large gap in the use of public services in the country. The “Gender Gap Index” of the World Economic Forum and its sub-index, “Health and Survival” —
India ranks 108 in the overall index and 147th out of 149 in the sub-index — shine a light on this challenge. Girl children face discrimination even before they are
born and continue to experience bias during their life, including in the provision of nutrition and use of health services. Faced with limited resources, families, in
general, prioritise the healthcare, nutrition and other needs of men at the cost of women. Some cultural factors, such as the reluctance of women in some regions to
consult male doctors, also constrain their access to healthcare services.

The National Family Health Survey (4th round) shows that the main reasons women do not seek healthcare services are because these services are unaffordable,
they are not easily available and there aren’t enough women healthcare providers. Ayushman Bharat PM-JAY seeks to bridge the gender gap in the use of
healthcare services by addressing a key constraint — healthcare costs. Cashless services through PM-JAY are helping to narrow the gender gap in availing
healthcare. Learning from the experience of earlier schemes like the Rashtriya Swasthya Bima Yojana, PM-JAY’s design incorporates several features that will
improve the use of healthcare services by women and girls.

First, families with no adult male members is one of the deprivation criteria for identifying target beneficiaries, which will help a large number of women. Second,
there is no cap on the size of families. A cap of five beneficiaries from a family in earlier schemes worked against women. It was observed that large families
preferred that their male members be beneficiaries. Finally, the packages include a large number of health conditions that exclusively, or primarily, affect women. Of
the 1,393 health benefit packages under PM-JAY, 116 are women centric, 64 are for only men while 1,213 are common to both.

The initial data for utilisation of services under PM-JAY shows that the use of services is more or less evenly balanced among men and women. Of all hospital
admission requests, 52 per cent were for men and 48 per cent were for women. In fact, the gender gap starts to show up at only above 50 years. In the age groups
from 0 to 50 years, use of services by women is either equal to or greater than that by men. It is important to note that some health conditions are prevalent either
only among women or men. Looking at conditions that are likely to affect both men and women equally provides better insights. The disaggregation of data on
utilisation of major specialty services shows mixed patterns. Use by women patients is higher in 10 specialties — OPD diagnostics, radiation oncology, follow-ups,
palliative care, burns management, ophthalmology, pediatric cancer, PHC and surgical oncology. However, in others like pediatric surgery, general medicine, urology
and cardiology utilisation by male patients is higher.

There are variations across states as well. For example, at the national level, 66 per cent of all treatment in orthopedics were received by men. However, in Kerala,
the proportion is 53 per cent while it is much greater in UP and Maharashtra— 70 per cent. There are variations at the level of procedures. For example, within
orthopedics, women are the majority users of packages such as total knee replacement — 57 per cent. There are state-level variations in this respect as well —
with 83 per cent utilisation by women in Kerala, and only 40 per cent in Jharkhand and Punjab.

Among the three major specialty services provided by PM-JAY— oncology, cardiology and nephrology — a majority of the users of oncology services are
women. However, there are large gender gaps in the use of cardiology and nephrology-related services. PM-JAY will need to analyse the reasons for this. Some of
the variation may be explained by the gender-wise difference in the prevalence of various diseases. Men and women may also have varying incidence of certain
diseases because of the degree of exposure to the proximate cause or an individual’s biological disposition. An analysis of these factors will need to be undertaken
to effectively assess the potential gender gap in the use of services.

The overall message from the analysis of initial PM-JAY data is that the scheme seems to be on the right track, even though more effort is needed to achieve total
gender parity. There is no gender-gap when it comes to people seeking several specialty services in many states. Up-to-date data available with PM-JAY will help
in continuously assessing the gender pattern of health-service use, analysing the reasons for any gender-based discrimination and providing cues for corrective
action. Monitoring the disaggregated service utilisation data will help sensitise implementing agencies and district authorities about possible gender gaps. Gaps, if any,
can be addressed by more informed and gender-sensitive planning, including targeted IEC (information, education and communication) campaigns. Women might
need to be informed about their eligibility for the scheme so that they can get their e-cards made and seek treatment in time. In addition, tele-consultations with
women healthcare providers might be required in case there are cultural barriers in consulting with male doctors.

PMIJAY has a strong potential to empower women to take decisions on their health and wipe out the gender gap in use of health services. Within the deprived and
vulnerable population that PMJAY seeks to serve, women constitute a particularly marginalised section. The scheme will be successful only when it can ensure that
women and girls receive their due in the use of healthcare services.




Q-24

eng

Which of the following messages are NOT conveyed by the author?

01. The factor of having no protection from 02. Data regarding service utilization should be disintegrated to search the cause of gender inequality.

immediate cause needs to be explored.

03. The result recorded while data disintegration 04.  The services offered for kidneys related diseases are not accessed equally by men and women.

showed a similar pattern which needs to be
examined.
05. None of the above
Which of the following messages are NOT conveyed by the author?

01. The factor of having no protection from 02. Data regarding service utilization should be disintegrated to search the cause of gender inequality.

immediate cause needs to be explored.

03. The result recorded while data disintegration 04.  The services offered for kidneys related diseases are not accessed equally by men and women.

showed a similar pattern which needs to be
examined.

05. None of the above

Solution for Question 24 Ans Key: 3
eng Explanation — The answer can be inferred from the second last paragraph of the passage.
Explanation — The answer can be inferred from the second last paragraph of the passage.
Q-25 With reference to the passage, which of the following reasons is/are behind the major gap in accessing public services?
01. Inadequate resources are provided to girls 02. Even the requirement of girls related to nutrition is not fulfilled.
while raising them.
03. Mostly women are treated as insignificant or 04. 'Women are easily defamed by some uneducated people in our society.
peripheral.
05. Both (1) and (2)
Q-25 With reference to the passage, which of the following reasons is/are behind the major gap in accessing public services?
01. Inadequate resources are provided to girls 02. Even the requirement of girls related to nutrition is not fulfilled.
while raising them.
03. Mostly women are treated as insignificant or 04. Women are easily defamed by some uneducated people in our society.
peripheral.
05. Both (1) and (2)
Solution for Question 25 Ans Key: 5
Explanation — The answer can be inferred from the first paragraph of the passage.
Explanation — The answer can be inferred from the first paragraph of the passage.
Q-26  According to the passage, in which of the following ways gender gaps can be handled?
eng .. . .
A. Women should be made aware whether they are eligible to access the scheme and can avail of the health services.
B. Women should feel comfortable to discuss their issues, so lady doctors should be available there for them.
C. Women should be made aware of their strong potential and how to ignore the rest when it comes to their health issues.
01. OnlyA 02. BothBand C
03. Both A and C 04. OnlyB
05. Both A and B
Q-26 According to the passage, in which of the following ways gender gaps can be handled?
hi
A. Women should be made aware whether they are eligible to access the scheme and can avail of the health services.
B. Women should feel comfortable to discuss their issues, so lady doctors should be available there for them.
C. Women should be made aware of their strong potential and how to ignore the rest when it comes to their health issues.
01. Only A 02. BothBandC
03. Both A andC 04. OnlyB
05. Both A and B
Solution for Question 26 Ans Key: 5

eng

Explanation — The answer can be inferred from the second last paragraph of the passage.



Explanation — The answer can be inferred from the second last paragraph of the passage.

Q-27

eng

Which of the following attributes is/are included in PMJAY’S design, as mentioned in the passage?

A. Some families don’t have any male member, in that case, the women should be the ultimate recipient.
B. Women will be getting free education under this Yojana including the requisites.
C. The limit to have only five recipients in total from one family was removed to favour women.

01. Only A 02. BothBandC
03. Both A and C 04. OnlyB

05. Both A and B
Which of the following attributes is/are included in PMJAY’S design, as mentioned in the passage?

A. Some families don’t have any male member, in that case, the women should be the ultimate recipient.
B. Women will be getting free education under this Yojana including the requisites.
C. The limit to have only five recipients in total from one family was removed to favour women.

01. Only A 02. BothBand C
03. Both A and C 04. OnlyB
05. Both A andB

Solution for Question 27

Q-28

Q-28

Explanation — The answer can be inferred from the third paragraph of the passage.

Explanation — The answer can be inferred from the third paragraph of the passage.

Which of the following is/are NOT among the strong services provided by PMJAY?

A. The services provided for the treatment of tumours.

B. The services provided to cure kidney related problems.

C. The services provided to eradicate low bone density related problems.
D. The services provided to cure abnormalities and problems of the heart.

01. OnlyA 02. Both B and C
03. Both AandD 04. Only B

05. All except C
Which of the following is/are NOT among the strong services provided by PMJAY?

A. The services provided for the treatment of tumours.

B. The services provided to cure kidney related problems.

C. The services provided to eradicate low bone density related problems.
D. The services provided to cure abnormalities and problems of the heart.

01. Only A 02. BothBand C
03. Both A andD 04. OnlyB
0S. All except C

Solution for Question 28

Ans Key: 3

Ans Key: 5

eng

Explanation — The answer can be inferred from the sixth paragraph of the passage.

hi

Explanation — The answer can be inferred from the sixth paragraph of the passage.

Q-29

eng

Which of the following statements is/are NOT according to the PMJAY’S data?

A. This Yojana has the potential to make women the decision-maker while accessing healthcare services.

B. This Yojana has empowered women in a way that they no longer need to take the permission of their families to avail education.

C. Today, after so many efforts the gender gap is same as it was recorded before starting this Yojana.

01. Only A 02. BothBandC
03. Both A andD 04.  All except C

05. None of the above
Which of the following statements is/are NOT according to the PMJAY’S data?

A. This Yojana has the potential to make women the decision-maker while accessing healthcare services.



B. This Yojana has empowered women in a way that they no longer need to take the permission of their families to avail education.
C. Today, after so many efforts the gender gap is same as it was recorded before starting this Yojana.

01. OnlyA 02. BothBandC
03. Both A and D 04.  All except C
05. None of the above
Solution for Question 29 Ans Key: 5
eng Explanation — The answer can be inferred after reading the whole passage carefully.
hi Explanation — The answer can be inferred after reading the whole passage carefully.
Q-30  For which of the following services have maximum number of women beneficiaries been recorded?
eng
01. Services which emphasize to cure problems 02. Services which emphasize to provide free education to the girls wanting to study.
related to heart.
03. Services which emphasize to provide free  04. Services which emphasize to cure problems related to tumour.
health check-ups to the women.
05. All except 2
Q-30 For which of the following services have maximum number of women beneficiaries been recorded?
01. Services which emphasize to cure problems 02.  Services which emphasize to provide free education to the girls wanting to study.
related to heart.
03. Services which emphasize to provide free  04. Services which emphasize to cure problems related to tumour.
health check-ups to the women.
05.  All except2
Solution for Question 30 Ans Key: 4
Explanation — The answer can be inferred from the sixth paragraph of the passage.
Explanation — The answer can be inferred from the sixth paragraph of the passage.
Q-31 ‘What approximate value will come in place of question mark (?) in following question?
26846 59998+ 568.75<0.298 =7
01. 25000 02. 26500
03. 24200 04. 26200
05. 27000
Q-31 o w1 § war=s (e (?) F S 9% T #4719 S22
i % 59998 +568.75x0298 =7
2418
01. 25000 02. 26500
03. 24200 04. 26200
05. 27000
Solution for Question 31 Ans Key: 3

eng 40 x 600 + 570 x 0.3 =72
?=24000+ 171
?7=24171 = 24200
hi 40 x 600 +570 x 0.3 ="7?
?=24000+ 171
?7=24171 = 24200
Q-32  Whatapproximate value will come in place of question mark (?) in the following question?
eng

133 % of 27 +24.99% of 80 = ?

01. 40 02. 50



03. 56 04. 60

05. 65
Q-32 fA=forfad wor § e =g (?) % T 9% SR 47 71 SR
hi
27 FT 133% + 80 FT 24.99% = ?
01. 40 02. 50
03. 56 04. 60
05. 65
Solution for Question 32 Ans Key: 3
eng 3591 +20=56
hi 35.91 +20 =56

Q-33  What approximate value will come in place of question mark (?) in the following question?

eng
1080 + 42 x 13.65="?

01. 300 02. 320
03. 330 04. 340
05. 360

Q-33 FwfaiEd w1 § waras (=g % T 0% o 619 47 SAET?

1080 ~42 x 13.65="?

01. 300 02. 320
03. 330 04. 340
05. 360
Solution for Question 33 AnsKey: 5
_.Lil.iu «14 = 360
ll:.l'il:l <14 =360
Q-34 What approximate value will come in place of question mark (?) in following question?

no

69.89% of 870 = ? —39.8% of 85.80 — 72.98

01. 620 02. 840
03. 720 04. 1020
05. 940

Q-34  fA=foriad w1 § wrar=e =g (?) F T 9% AT 47 AT SAR?

870 T 69.89% = ? — 85.80 1 39.8% — 72.98

01. 620 02. 840
03. 720 04. 1020
05. 940
Solution for Question 34 Ans Key: 3
eng 870x70 _, 86x40 ..
100 " o100
609 +34.4+74=72
2=716.4~=720
hi 870x70 _, 86x40 .
100 ©oo100
609 +34.4+74=2
2=716.4~=720

Q-35 What approximate value will come in place of question mark (?) in following question?



eng

1526.79 x 24.98 + 596.68 = ?

01. 48600 02. 38800
03. 32000 04. 45400
05. 42800

Feferfea w1 & weramas g (2) % T 9 AT 797 719 AR

1526.79 x 24.98 + 596.68 = ?

01. 48600 02. 38800
03. 32000 04. 45400
05. 42800
Solution for Question 35 Ans Key: 2
eng 1526.7 x 25 + 600 = ?
?=38175 + 600
?=38775 = 38800
hi 1526.7 x 25 + 600 = ?
?=38175 + 600
?=138775 = 38800
Q-36 What should come in place of the question mark (?) in the following number series?
11 136 72 99 91 ?
01. 90 02. 92
03. 182 04. 184
05. 180
Q-36 Tt dwer g@ar § w7 =g (2) F #9109 9% 747 Sm?
11 136 72 99 91 %
01. 90 02. 92
03. 182 04. 184
05. 180
Solution for Question 36 Ans Key: 2
+(5, - @, +0), - @2+ (1)
+ (%= @, + ), - @+ (1)
Q-37 What should come in place of the question mark (?) in the following number series?
eng
4 4.25 10.75 ? 406.25 6520.25
01. 385 02. 80.25
03. 59.25 04. 492
05. 4925
Q-37 TA=foiad dear g@Ear § w1 g (2) F #9097 F47 S
hi
4 4.25 10.75 ? 406.25 6520.25
01. 385 02. 80.25
03. 59.25 04. 492
05. 49.25
Solution for Question 37 Ans Key: 5

eng

x 1+ (052 x 2+ (1.5 x 4+ (2.5 x 8+ (3.5)% x 16 + (4.5)%

Q-38

What should come in place of the question mark (?) in the following number series?



eng

8 9 20 63 ? 1285
01. 244 02. 248
03. 196 04. 286
05. 256

et e gaer § w1 g (2) % T 9% 47 AR

8 9 20 63 ? 1285
01. 244 02. 248
03. 196 04. 286
05. 256
Solution for Question 38 Ans Key: 5
eng X1+1,x2+2,x3+3, x4+4 x5+5
hi XTH1,x2+42,x3+3,x4+4,x5+5
Q-39 What should come in place of the question mark (?) in the following number series?
4 21 42 79 180 ?
01. 573 02. 577
03. 537 04. 437
05. 527
Q-39 Fwfofed ger s | w7 =g (?) F SO0 92 F:7 A&
4 21 42 79 180 ?
01. 573 02. 577
03. 537 04. 437
05. 527
Solution for Question 39 Ans Key: 3
4 21 42 79 180 ? =537
17 21 37 101 357
4 16 64 256
4 2l 42 79 180 ?=1537
17 21 37 101 357
4 16 64 256
Q-40  What should come in place of the question mark (?) in the following number series?
eng
397 ? 185 130 53 26
01. 341 02. 314
03. 185 04. 323
05. 297
Q-40 o e sEar § v g (2) F #9777 Sram?
hi
397 ? 185 130 53 26
01. 341 02. 314
03. 185 04. 323
05. 297
Solution for Question 40 Ans Key: 2

eng

19+ 62,172+ 52, 132+ 42,112 + 3%, 72+ 22, 52 + 12

hi

192+ 62 172+ 52 132+ 42 112+ 32 72422 52+ |2

0Q-41

If A scored p runs, B scored q runs and C scored r runs and p: q = q: r = 3: 2. The total runs scored by A, B and C is 342, then what will be the average



eng

of the runs scored by A and B?

01. 110 02. 125
03. 130 04. 135

05. None of these
TfE AT p T T4, BT q T F9TT 37T C 7 r 3 a910, A p: q = q: 1= 3: 2. T A, B 31T C FTT I U F[A TAT T F{T ST 342 €, AT AT B
FTXT FATT (T F/A AT AT A6 F47 82

01. 110 02. 125
03. 130 04. 135
05. o7 A TS T

Solution for Question 41 Ans Key: 4

eng

p:q=3:2=9:6
q:r=3:2=6:4
p:q:r=9:6:4

Average of A's and B's runs = lx£x342 =E =135
v 2

Q-42

Q-42

1 15 270
2719" 2

In an examination A got 25% more marks than B. B got 10% less marks than C and C got 25% more marks than D. Then if D has got 64% marks out of
total marks (i.e. 500), then what is marks obtained by A.

01. 405 02. 450
03. 360 04. 400

05. None of these
UF TAT §, AFT B T 25% AT 37 et | B FT C & 10% FH 31 7 37 C 7 D | 25% Aa 3 f8er | a1 afs D 7 %1 31 (ST 500) FT
64% 3 ITH FLAT &, AT A FT e i ey 2

01. 405 02. 450
03. 360 04. 400
05. =% 9 F1 T2l

Solution for Question 42 Ans Key: 2

If D got marks = 100
C's marks = 125

“+ anr
5w O

B's marks = ——
1uu
125x90 125
100 100
125125 %90
1000000
125x125x90x320
1000000

A's marks =

100=

320= 450

It D &7 3% T8 = 100
C & 3 =125
125%90
100
125x90 125
100 100
125x125 %90
1000000
125%x125 x90x320

320= — ————— =450
1000000

B & 3=

AT FHE =

100 =

Q-43

eng

If perimeter of a square and rectangle is equal. If length and breadth of rectangle are 12 cm and 10 cm respectively. The area of square is what % more
than that of rectangle?



01. 59 02. 1%

6 6
03. 29 04. 1%
3

05. None of these
Q-43  UF o AT A AT AT HAT &, TS AT 12 HHT. A#4T, 10 7. AT &, AT AT T &6 AT 6 &R | [6ad % AT 82

01. 59 02. 11 %
6 6
03. 29% 04. 1%
£
05. gt & 1 A
Solution for Question 43 AnsKey: 1
eng Perimeter of rectangle=2(1 + b) =22 x 2 =44

Perimeter of square= perimeter of rectangle= 44
Side of square= 11

Area of square= 121

Area of rectangle= 12 x 10 =120

(121-120)
—

:
Required% = %x100= i %

A T AT =2(1 + b) =22 x 2 =44

T ST YIETT = AT T IS = 44

T T ST = 11

T T &R = 121

I T &A= 12 x 10 =120
50} :

afimo =272 to0=20

120 6

Q-44 The average runs of a cricket player is 38.9 runs in 10 innings. If the average of first six innings is 42 runs then find the average of last four innings.

[N}

01. 9372 02. 34.25

03. 38.07 04. 4285
05. None of these

Q-44 U= frde Rt % 10 TR 7 3fied 38.9 ¥ § WIH &: ITHAT &7 3fed 42 79 2 d7 $ifaw =12 ariat &7 sieq #1782

01. 93.72 02. 3425

03. 38.07 04. 42.85

05. =¥ T HIS Tor
Solution for Question 44 Ans Key: 2
eng Average = 38.9

Sum = 38.9x10 = 389

Sum of first six innings = 42x6= 252

Sum of last four innings = 389 — 252
137

Average = q = 3425
hi 3| = 38.9
AT = 38.9x10 = 389
TEAT Bz TATLAT T T = 42%6 = 252
TRt =TT a7 AT = 389 - 252 3ﬁw=¥ — 3495

Q-45 To pass an examination, 40% marks are essential. A obtains 10% marks less than the pass marks and B obtains 11.11% marks less than A. what % less
eng than the sum of A’s and B’s marks should C obtain to pass the exam?

01. 411% 02. 28%
17
03. 40% 04. All of above

05. Cannot be determine
Q-45  UF THAT H I G F oI 40% 37 SAA9TqF &1 A STIVIE H 10% FH 37 TTH FAT 2 7 B, AF 11.11% FHF 3% TTH F2aT g1 TEar § 3ot
hi 2 3 forw C T A 31T B3 et & 2T & fhae % 3 37 YA AT JATigu?



01. 3% 02. 28%

11—
17
03. 40% 04. ITTE AT
05. T 7T FT TFHA
Solution for Question 45 Ans Key: 4
eng Let the exam be of 100 marks. A obtain 36 marks (10% or 1/10th less than the pass marks) while B obtains 32 marks (11.11% or 1/9th less than A). The
sum of A and B’s marks are 36+32 = 68. To pass C can obtain 28 marks less than 68, which is a .111 % of %. If C obtain 28% less marks than 68 or if
17
C obtain 40% less marks than 68 he would still pass. Thus all of the above option are true.
hi HTET LT 100 3T FT ZIA FT 36 375 TTH 1 8 (10% JT IO T 1/10 F) STt BHI 32 AF ITH A & (11.11% AT AH 1/9 FH) AT B F
ST T T 36 + 32 = 68 &1 I &1 5 ToT C, 68 & 28 37 FW TTH F7 THAT £ 1 15 415, 217X C, 68 F 28% F 37 ITH AT C, 68 T 40%
17
FH 3 TTH LAl g a1 ag T ot ST I 7 Th1e Iu2res asft fereses 9gr 8|
Q-46 The speeds of two trains are in the ratio 3: 4. They are moving in opposite directions on parallel tracks. The first train crosses a telegraph pole in the same
eng time as the second which takes 8 seconds. Find the time taken by the trains to cross each other.
01. 8 seconds 02. 6 seconds
03. 7.5 seconds 04. 7 seconds
05. None of these
Q-46 =T AT AT (A FT AT 3: 4 1 o HAATAE TeRAT T2 TF §AL F HOLT QAT H T TT 8| TEAT o U SATITE 6 GF T 3q af G99 | q1T
FLAT ¢ Fora 7 &t 2 S 8 HFhe ol 21 T GHY &l I FA 6 forw At gy fora w2 sw sia s
01. 8 ¥=xvs 02. ¢ ¥HFvE
03. 7.5 F%ve 04. 7 FFTE
05. =% T IS Al
Solution for Question 46 Ans Key: 1
According to the question,
Required time = t = 3k _ 8+dkx8 _ g seconds
TATIATE
e e = S e
t=T"—""T 7" _§
3k + 4k
Q-47 A man lent out Rs.21600 partly at 12% and partly at 14% simple interest. His total income after 1.5 years was Rs.4050. Find the ratio of the sum lent at
12% and 14% simple interest respectively.
01. 5:1 02. 4:1
03. 3:1 04. 4.5
05. None of these
Q-47  UF SEHT T 21,600 FTT ATAF FT T 12% T ATTAF T T 14% T 4TS T I (AT ITHT H/A T 1.5 9 5 18 4050 797 71 12% <
hi 14% |TETIT SATST 97 AT AT 79T FH9T: AT AT HIford |
01. 5.1 02. 4:1
03. 3:1 04. 4:5
05. =zt & e T
Solution for Question 47 Ans Key: 3
eng Let amount given on 12% rate of interest be Rs.x.

According to the question

xx12x3 (21600—=x)x14x3
200 200 -

36x +21600 x 14 x 3 —42x = 4050 x 200

— 6x = 810000 — 907200

x = 16200

Ratio between amounts

=16200: (21600 — 16200)

=16200: 5400

=3:1

4050




Q-48

eng

Q-48

T 12% SIS 9T & Tt T x &, 7 |

AT,

xx12%3 +I 21600—x | =14 =3 4050
200 200

36x + 21600 x 14 x 3 —42x =4050 x 200

— 6x=810000 — 907200

x = 16200

SRIRTAT H ST

=16200: (21600 — 16200)

=16200: 5400

=3:1

A started a business investing Rs.40000. He invested additional amount of Rs.10000 every year. After two years B joined him with an amount of
Rs.85000. On completion of four years from the starting of business they earned an amount of Rs.234000. What will be the A's share in the earning?

01. Rs.135000 02. Rs.110000
03. Rs.85000 04. Rs.95000

05. None of these
A 40000 T FT [Ha9T T T FILETE & HATI Irgi= g2 AT 10000 FF ¥ s7fafeh Trfer &7 fHaer fam 21 |rer 312 B, 85000 9 #it
TTFOr 3 TTT THH = AT FTEATT 0% F9 T AT T T 219 U7 Iz 234000 F27 F1 FATE HT) FATE F A F7 FZ7a7 11 2R

01. Rs.135000 02. Rs.110000
03. Rs.85000 04. Rs.95000
05. it & FrE TE

Solution for Question 48 Ans Key: 5

Q-49

According to the question,

Ratio beteen equivalent capitals

= (40000 x 12 + 50000 x 12 + 60000 x 12 + 70000 x 12) : 85000 x 24
=220:170=22:17

A's share = 22 234000 = 132000

TATTHTY,

THeT qfor T H ST

= (40000 x 12 + 50000 x 12 + 60000 x 12 + 70000 x 12) : 85000 x 24
=220:170=22: 17

AT A= 22, 234000 = 132000

A vessel contains mixture of milk and water. Milk is 18%, 8 litres of mixture is taken out of the vessel which is again filled with water. If the present
percentage of milk is 15%. Find the quantity of the mixture in the vessel.

01. 54 1litres 02. 48 litres
03. 45 litres 04. 42 litres

05. None of these
T TT | o &1 T T 007 81 39 18% &, 8 e fAeror urst & v fAawrer strar & o e & arelit & we fa=m strar 810 7f= gor &1 adam=
gferera 15% g1 v ® fosror Y g s s

01. 54fex 02. 48 <ffex
03. 452w 04. 42 <fex
05. =3 & F1E T

Solution for Question 49 Ans Key: 2

eng

By alligation method,
18 0

[e——
Ln

15 3

Required ratio =5 : 1

1 ratio=8

6 ratio = 6 x 8 =48 litres
Torsgor = R =,

18 0



—
Ln

15 3
afTg sqITa =51

1 ST = 8

6 AT = 6 x 8 = 48 Fex

Q-50 Vansh sold two articles together for Rs.18845 thereby making a profit of 25% on the first article and 10% on the second article. By selling them together

eng for Rs.18755 he would have made a profit of 10% on the first article and 25% on the second article. Find the cost price of the first article.
01. Rs.8470 02. Rs.9625
03. Rs.9130 04. Rs.7700
05. Rs.8300
Q-50  Fer T 18845 wF § &7 AU, UF AT =1, FOEH Tgal avq T 25% ¥ T T€G T2 10% FT ATH gl Svg 18755 F9H § UH AT J9%< 34
hi TEAT AET T 10% 31T FELT €] T 25% HT ATH FHTAT GRIT| Tgeft T€G FT ARG oo AT o
01. 8470 =T 02. 9625 &9
03. 9130 ¥ 04. 7700 ¥
05. 8300 &7
Solution for Question 50 Ans Key: 5

According to the question,

125% of x + 110% of y = 18845 ....... @
110% of x + 125% of y = 18755 ....... 10
On solving (1)) and (II), we get

x =8300 and y = 7700

Cost price of the first article = Rs.8300

TATIHT,
X T 125% + y HT 110% = 18845 ....... 0

X FT 110% + y FT 125% = 18755 ....... (1)
(1)) 3T (I1) FT T HLA UL, 7 ITT FLd &
X = 8300 3f¥ y = 7700

TEAT T FT (AT Tod = %.8300

Passage for Question 51, 52, 53, 54, 55 (ST-08 CWEPO (136-140) 2014)
eng Passage

Study the following information carefully and answer the given questions.

In a class certain number of Marbles (3 colours) are distributed among students. It is formed that number of students who got red coloured marbles is 37.5% of
total students and number of students who got all the three colours of marbles is 2_10 of total number of students 52.5% of total student got black marbles and

57.5% got green coloured marbles. Number of students who got both red and black marbles but not green is double the number of students who got all three
colours and half of the number of students who got black and green but not red marbles. Numbers of students who got all three colours of marbles is 10.

hi Passage

feferfd strasTfiat 1 eamaa® e fr sive woii & 39w Afm)

U FAT | 3 7 % Af2ra dear § Arde Srat F 7ed FieT S g1 A9 era1 & /A ST B 37.5% BT HI AT 37 HT AT TTH AT 8 ¥ F/A BIA1 6T
%ﬁmﬁdﬁﬁﬁmuﬁwm%%wwﬁwsz.mwaﬁmﬁ@mnﬁﬂ3ﬁt57.5%aﬁﬁaﬁg%w$rnﬁﬂw@m§|ﬁrrr@'eﬁa?rm

STY Tl AT TR o ATaed (7o, SIfh g% 30 % 781 &, 39 St i wweat anpAT g, e i1 31 fer € oire 3 sy gt Y g & S e e gy [
FfoF AT TeIT AT ARt & | THT I [ AT AT FIA AT GTAT 07 FEAT 10 Bl

Q-51  How many students got red and green marbles but not black?

eng
01. 20 02. 25
03. 35 04. 30
05. 15
Q-51  TE T it " At & ST arer siT g 11 Afaha F7er T 7 A1 q21 AT ga?
hi

01. 20 02. 25



03. 35 04. 30
05. 15

Solution for Question 51

eng

15

15

Number of students who got exactly the two colour of marbles is -

01. 65 02. 60
03. 68 04. 75
05. 70

TH AT AT HEAT a1 g (i &1 401 % ATt I g

01. 65 02. 60
03. 68 04. 75
05. 70

Solution for Question 52

eng

15+20+40=75

Ans Key: 5

Ans Key: 4



15+20+40=75

Q-53  Number of students who got at least two colours of marbles is -

eng
01. 107 02. 85
03. 95 04. 72
05. 90
Q-53  UH Al & g Thaet 8 e F9 § FF &0 6 q1a 9" gu?
hi
01. 107 02. 85
03. 95 04. 72
05. 90

Solution for Question 53

R
B
G
75+10=85
R
B
G
75+10=85

Q-54 What is the ratio of number of students who got only red to number of students who got only green marbles?
eng

01. 4:5 02. 32
03. 2:5 04. 23

05. None of these
Q-54  FaA AT M F FEA TTH S ATA BIAT 0T SEAT AT HaA 2L T % AT TTH 21 ATl AT 31 HEAT 6 1 AT 77 282

Ans Key: 2



01. 45 02. 322

03. 2:5 04. 23
05. e & TS
Solution for Question 54 Ans Key: 5
eng
R
B
G
30:50=3:5
R
B
(7
30:50=3:5
Q-55 What percentage of total student got exactly one colour of marbles?
01. 49% 02. 57.5%
03. 60% 04. 64%

0S. None of these
Q-55  THGTAI %1 R AT H1 TA9T (a1 g Sivgid Had T BT 0 Hiad T8 gar?

hi

01. 49% 02. 57.5%

03. 60% 04. 64%

05. =H qFIE A5t
Solution for Question 55 Ans Key: 2
eng

R
B



115

—x100=57.5

200

115

—x100=57.5
200

Passage for Question 56, 57, 58, 59, 60 (ST-96 BANK PO PRE 2018 (16-20))

eng Passage

Study the graph and answer the following questions.
Total Population in 2008=1500 million

Population % | Sex Ratio Literacy Ratio
State
among total M:F Litereate : Illiterate
Uttar Pradesh 22% 6:5 3:8
Bihar 20% 323 2l
Madhya Pradesh 19% 6:7 4:1
Mizoram 8% 3:4 L
Rajasthan 9% 4:3 o |
Andhra Pradesh 12% 3:4 ¥:2
West Bengal 10% = 2 2A
hi Passage
90 I T eATq@ 7T T A1 o 3L aifor|
Y 2008 H FeT STTEEAT = 1500 Ffera=
Yo AAEEAT | ToRTHUTE | STETET SH9TE
i Fwid | gewofen | e
I TR 22% 6:5 3:8
fEw 20% 5:3 2:5
T W= 19% 6:7 4:1
T 8% 3:4 L.
TAFATH 9% 4:3 3:1
g =T 12% 3:4 712
ufare e 10% 13 2:1
Q-56 What is the total number of female literate in Andhra Pradesh?
eng

Q-56

01. 30 million
03. 32.5 million
05. None of these

02. 35 million

04.

e waor 7 forfera wigeTett 7 FHer e = g2

Cannot be determined



01. 30 ferm 02. 35 At
03. 32.5 ffera= 04. Reiia Tt T ST HEsFaT
05. zeit & e T
Solution for Question 56 Ans Key: 4
eng It cannot be determined because there is no information about the relationship because male and female's literacy & illiteracy.
hi T TF qR1 (AT ST THAT FAITh T TTEALAT ST AT STHTATAT F FeT q¥a Tl (AT TAT 2 |
Q-57 Total illiterate in Madhya Pradesh is approximate what percent of the total illiterate in Rajasthan?
eng
01. 150% 02. 125%
03. 130% 04. 168%
05. 105%
Q-57 WA VXA H [ LA AR 6T HEAT TSI il HTAT ARTE 61 ol (L& AN HT AT Foha et Teerd 82
hi
01. 150% 02. 125%
03. 130% 04. 168%
05. 105%
Solution for Question 57 Ans Key: 4
rRTea: L LR |
Required % = A ;g'j' : 100
= 168.8% (Approx)
v 190 |
3T‘3ﬁ§ % = M% 100
= 168.8% (FIT¥T)
Q-58 What is the ratio of literates of Madhya Pradesh to the illiterates of West Bengal?
01. 25:67 02. 114:25
03. 6795 04. 25:114
05. None of these
Q-58  WeH W97 3 TILTT AT T FeAT T TIH a7 3 WeTT SN o0t HeAT 36 Hed FT AT 27
01. 25:67 02. 114:25
03. 67:25 04. 25:114
05. None of these
Solution for Question 58 Ans Key: 2
eng Required ratio=114 : 25
hi arefTE sqTa=114: 25
Q-59 What is the total no. of literate people of Bihar and U.P together?
eng
01. 107.55 million 02. 97.5 million
03.  150.50 million 04. 175.71 million
05. 185.50 million
Q-59 3@ T ST T3 F ATAT AW hl HEAT F47 &2
hi
01. 107.55 million 02. 975 million
03.  150.50 million 04. 175.71 million
05. 185.50 million
Solution for Question 59 Ans Key: 4



0 2 22
eng Required number = 1500x£><:+1500x‘_'><i
7 100 11
r =
= 15x%]| £+ 6
=175.71 million
hi : 20 2 22
TS HIT = 1500 2 x 2 41500 x —=-x—
100 7 100 11
r =
= 15x%| £+ 6 ‘
L7 ]
=175.71 ffems
Q-60 If the total population of U.P and Bihar is increased by 10% and 20% respectively in comparison to the previous year, then what will be the ratio of
eng population of two states?
01. 10:13 02. 5:7
03. 121:110 04. 120: 121

05. None of these

Q-60 =T 3IT IR ST Ag it o STAEEAT (hager U  qT0e FHA:10% 3T 20% TEAT & AT A1 TSTT T STTEEAT % T FAT AT T2

01. 10:13 02. 5:7
03. 121:110 04. 120:121
05. None of these
Solution for Question 60
Required ratio =363 : 360 =121 : 120
ST ST = 363 : 360 = 121 : 120

Passage for Question 61, 62, 63, 64, 65 (ST-117 MATHS 2019 DI-5)
eng Passage

The graph below shows the change in Price of Precious Metals during the years 2001 — 05. Answer the following questions based on this information.

For Gold and Platinum price is expressed as Price/10g and for Silver it is expressed as Price/kg.

Price of precious metals
18500

17500

16500

15500

14500

13500

P i

G el g

rd

9500

2001 2002 2003 2004

e GOl === Silver == Platinum

hi Passage
&1 Tl SRR T I & TG S IThT ST 5 IR % S -

N it qfeTm & ford Hma geray10mm i =it o fordh geray/fepa 21

Aegara TEGIT 1 FAT

et e w7 A 2001-05 6 SO I TSAT oh TR H TG i ST 8 $6 SIHERRY O ARG TRH % I -

18500

17500 A S— W-"“’”‘_W&

o | "
Y~

15500 —

Ans Key: 3




L ik
14500
5500 A

A
10500 / \‘//

9500

2001 2002 2003 2004 2005

——gen R iR

Q-61 Which precious metal showed the maximum growth percentage from years 2001— 05?
eng

01. Gold 50% 02. Silver 49%
03. Silver 35% 04. Platinum 42%

0S.  All showed equal growth
Q-61  a¥2001-05 F F=T T &Y FwAT o1q FatTerT wfoerd i 2T 82

01. =T 50% 02. =it 49%
03. =7dt 35% 04, e 42%
05. ¥t 7\ gfz FeMia 2
Solution for Question 61 Ans Key: 1

Price of Silver in 2001 = 15000

Price of Silver in 2005 = 17000

Growth percentage of silver = (17000 — 15000)/15000 = 2000/15000 = 13.33%
Price of Gold in 2001 = 10000

Price of Gold in 2005 = 15000

Growth percentage of gold = (15000 — 10000)/10000 = 5000/10000 = 50%
Price of Platinum in 2001 = 16000

Price of Platinum in 2005 = 18000

Growth percentage = (18000 — 16000)/16000 = 2000/16000 = 12.5%

Gold showed Maximum growth percentage = 50%

2001 T =7t i hEd = 15000

2005 H =7dT i T = 17000

S} &t farehr@ gfeerd = (17000 — 15000)/15000 = 2000/15000 = 13.33%
2001 ¥ € i T = 10000

2005 H |4 <l T = 15000

I 3T e Ffeera = (15000 - 10000) / 10000 = 5000/10000 = 50%
2001 H AT i T = 16000

2005 H wATeTH il T = 18000

gfg Ifaerd = (18000 - 16000) / 16000 = 2000/16000 = 12.5%

T 2001-05 o R FHT 50% & Fariterens Sfaerd afg awtar 1

Q-62 What is the maximum (aproximate)percentage growth seen for any of the precious metals in consecutive years?
eng

01. 45% 02. 35%
03. 40% 04. 50%

05. 30%
Q-62 =1 @ aut § Freft FrAdT g § qattes Tiaerd (@ )ahs st gs 22



01. 45% 02. 35%
03. 40% 04. 50%
05. 30%

Solution for Question 62 Ans Key: 2

eng

Wi waeE gt ER E Reox H gl

Maximum growth in Gold in 2004.

(3500/10500)*100=33.33% = 35 Aprox

(3500/10500)*100=33.3304% = 35% <TTHT

Q-63

eng

What was the maximum fall in value in a year recorded for any metal during this period?

01. 8.76% 02. 9.55%
03. 10.1% 04. 11.11%

05. 12.5%
T AT o6 ZTC TR e # Fatters giaerd wHT frae gt &2

01. 8.76% 02. 9.55%
03. 10.1% 04. 11.11%
05. 12.5%

Solution for Question 63 Ans Key: 5

From the graph, it is evident that the fall was only recorded twice, once for Silver in 2002-03 and once for gold in the same year.
Price of Silver in 2002 = 18000

Price of Silver in 2003 = 16000

Fall =2000/18000 x100 =11.11%

Price of Gold in 2002 = 12000

Price of Gold in 2003 = 10500

Fall = 1500/12000 %100 = 12.5%

% ©, I8 ¥ ? for Tae shaet a1 9 &S o1 178 off, Tk &I 2002-03 # fieat & 7w ot o o 3 o # &4 & fog
2002 # =l &Y HHd = 18000

2003 § =at Y AT = 16000

TdqT = 2000/18000 x 100 = 11.11%

2002 ® FH T HHd = 12000

2003 ® | 3T AT = 10500

qq = 1500/12000 x 100 = 12.5%

Q-64

eng

Adam invested equal amount of money in Gold, Silver and Platinum in the January 2001. What are his approximate returns (expressed as % of initial
investment) after 5 years?

01. 13% 02. 25%
03. 49% 04. 55%

05. 61%
TSH ALY 2001 H |, FTET 37T wfedw ® arae Tier &1 fAerer fram 5 w1 ara saer are i (s Faer % wfaerd F &9 § o7gq) §
T TR ST 2T?

01. 13% 02. 25%
03. 49% 04. 55%
05. 61%

Solution for Question 64 Ans Key: 2

eng

Suppose Adam invested X amount in each of the metals



Price of Silver in 2001 = 15000

Price of Silver in 2005 = 17000

Growth percentage of silver = (17000 — 15000)/15000 = 2000/15000 = 13.33%
Returns = 0.13X

Price of Gold in 2001 = 10000

Price of Gold in 2005 = 15000

Growth percentage of gold = (15000 — 10000)/10000 = 4900/10000 = 49%
Returns = 0.49X

Price of Platinum in 2001 = 16000

Price of Platinum in 2005 = 18000

Growth percentage = (18000 — 16000)/16000 = 2000/16000 = 12.5%
Returns = 0.13X

Total Returns = (0.13 + 0.50 + 0.13)x = 0.76X

Initial investment = X + X + X =3X

% returns = 0.76X/ 3X =25%

T ST {6 31mem 3 yee arg § X Uiy & faw foran @

2001 # =TT st WA = 15000

2005 # =TET 3T A = 17000

=Tt &1 fashra gfaerd = (17000 — 15000)/15000 = 2000/15000 = 13.33%
fed = 0.13X

2001 ® €I 3T HiHd = 10000

2005 ¥ |1 & HAT = 14900

T T foere afawrd = (15000 - 10000) / 10000 = 5000/10000 =50%
fed = 0.50X

2001 H e i HHd = 16000

2005 = 18000 ¥ wife &t Fma

gfg gfaera = (18000 - 16000) / 16000 = 2000/16000 = 12.5%

fed = 0.13X

e fed = (0.13 +0.50 + 0.13)x = 0.76X

grRfyed =X+ X+ X =3 X

9% fred = 0.76X / 3X = 25%

Q-65 If Adam invested his money in the ratio 1 : 2 : 3 in Silver, Platinum and Gold respectively then find the approximate percentage returns after 5 years.
eng

01 11.11% 02. 13.32%
03. 25.74% 04. 31%
05. 37%

Q-65 AT U=H A 1:2: 3 FUAT F SIUTT § FHT: FTGT, wfeansie @ & Farer Brar av 5 aut % arg o fraer wfdera & arodt grf?



Solution for Question 65

eng

01. 11.11% 02. 13.32%
03. 25.74% 04. 31%
05. 37%

Ans Key: 4

Let investment in Platinum be X
Then the investment in Silver = 2X
And the investment in Gold = 3X
Price of Silver in 2001 = 15000
Price of Silver in 2005 = 17000

Growth percentage of silver = (17000 — 15000)/15000 = 2000/15000 = 13.33%

Returns = 0.13x X =0.13X
Price of Gold in 2001 = 10000

Price of Gold in 2005 = 14900

Growth percentage of gold = (14900 — 10000)/10000 = 4900/10000 = 49%

Returns = 0.49 x 3X =1.47X
Price of Platinum in 2001 = 16000

Price of Platinum in 2005 = 18000

Growth percentage = (18000 — 16000)/16000 = 2000/16000 = 12.5%

Returns = 0.13 x 2X = 0.26X

Total Returns = 0.13 + 1.47 + 0.26 = 1.86X
Initial investment = X + 2X + 3X = 6X

% returns = 1.86X/ 6X =31%

T A 8 sl wifeaq | fraer X &

Rt fareat | faer = 2X

IR EH | faer=3X

2001 ® =7et T h|d = 15000

2005 § =7et T HEd = 17000

<1<t =t foremmd wfeerd = (17000 — 15000)/15000 = 2000/15000
fred =0.13 x X =0.13X

2001 § G4 &1 hmd = 10000

2005 ¥ G 3T h|d = 14900

13.33%

G o7 foaesrd ITard = (14900 - 10000) / 10000 = 4900/10000 = 49%

fried = 0.49 x 3X = 1.47X

2001 ¥ wfeT s Shimd = 16000

2005 ¥ weifem & himd = 18000

gfg gfaera = (18000 - 16000) / 16000 = 2000/16000 = 12.5%
fied =0.13 x 2X = 0.26X

/A fed = 0.13 + 1.47 + 0.26 = 1.86X

rfes fee = X + 2X + 3X = 6X

% fed = 1.86X / 6X =31%

Q-66

eng

Study the following information carefully and answer the questions given below:

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in

the statements are sufficient to answer the question. Read both the statements. Give answer:

What is the age of R?
L. R is 15 years younger than P.



IL. P is 10 years older than D who is 65 years old.

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to
answer the question.

03. If the data either in statement I alone orin ~ 04. If the data in both statements I and 11 together are not sufficient to answer the question.
statement II alone are sufficient to answer
the question.

0S. Ifthe data in both statements I and I
together are necessary to answer the
question.

et ST #T eI\ gE® 1eaaa w2 3T F=r fam o vt 3 3= difor:

A= fo 0 s Wy W UE W g ST 36 A &1 RAT wH I 1A 1 R g o Aoy 3 et § e 3w ster v F swe e w o
TITH § IT AT AT FHAAT FT I(RU T IAT AR

R &7 39 FAT 8?2
LR, P 1597 BIeT 2l
IL P, D T o1 & 10 9 =T &, ST 65 99 &7 gl

01. =f% oI [ H STeT T3 37 ST a4 & (o0 02. TS FAT [1 H STeT T FT I a0 & (10 TATH § Ta 1 FAT [ § STET Thel T FT I 2 %
TITT g STk FIT 11§ STET el T T forT oty 72 21
I 29 3 foro gty 7€) 2
03. FfTaT A FATIASETFA AT FAT I 04, T o [ 37T 1L ST 01 THEATHT 1T I37 T I 24 3 forw qaie 721 81
T ST el T T ST 39 o {70 aa7q
El
05. =g o [ 3T 11 <11 &7 THeITeR To7 7
I I ForT areae T 2

Solution for Question 66 Ans Key: 5

Q-67

The data in both statements I and II together are necessary to answer the question.

Fo ST 1L IAT T (TR o0 T I 3 6 (70 a9 gl

Study the following information carefully and answer the questions given below:

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:

How is T related to U?
I. T is the daughter of U’s father.
I1. U has four sisters.

01. Ifthe data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement |
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to
answer the question.

03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer
the question.

05. Ifthe data in both statements I and I
together are necessary to answer the
question.

FReferfd ST 7 eAIa T ALqTT FL 3T A (27 T 777 % 372 dior:

A= form 0 s wor ® U W § ST 6 A &1 R AT 1T 1 R e E) ot Sy B et & o mam ster v F swe e w o
TITH & IT ARl AT FHAAT 1 T(LT ST IAL ZAT |

T, U & o wraTe waifera g2
LT, U faar ff 38 2
I U T =¥ T8+ gl

01. =f3 Foe [ STer T FT 3T A & forw 02, 71f e 11/ STeT %0 7 3¢ o o (7w aaTe & STafsh o 1 § STeT 37ahel T T 3¢ a4 &
TITH § Ttk FAF 11 H STeT el T 1 o Tt =1 2
I 9 o gt = )

03. FrrATTAFITIT ST AR ATFATI 04, T o 1 30T [ AT 7 [HATHRL ST T T IL 2 o {oIT T3] 781 8l



T ST kel T5F 1 T 2 o o g7ty
2l

05. IfE g 1 3f 1L 21 71 0T 97 7
IAT 3 F o0 srae T+ g

Solution for Question 67 Ans Key: 1

eng

The data in statement I alone are sufficient to answer the question.

hi

FAT | F 27T T T 3L 2 F (o7 TAH

Q-68

eng

Q-68

Study the following information carefully and answer the questions given below:

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:

Who has secured lowest marks among A, B, C and D?
1. B scored more marks than C.
I1. D scored more marks than C and A.

01. Ifthe data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to
answer the question.

03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer
the question.

0S. Ifthe data in both statements I and II
together are necessary to answer the
question.
frrferfaa STt T eaTa@e steaae #3 37 = f3w o st 3 3w o

;ﬁ%%{wgﬁ;gq’gﬁr{aﬁgqégﬁrwﬁfT-F]"%’ETTEE')JF(%Q.*%lﬁ?]]%{“% 511?1*7 3‘@1 %Eﬁq—ﬁﬁ- <7 T ST< ‘JP‘JEF@ 'é_'\'r;‘F “al
TITH & AT AT ZAT FAAT T AR AT I A

A, B, C 3T D # & 3o % i wre forr 89
I. B T C 3rfers sie a1 o
IL D 7 C 3fT A & erfarer sk o fan

01. f o1 [ H STeT 751 &1 3T & 6 (o0 02. 7 & 11 § STeT T 7 I & & (70 TATH & Sateh HA [ | STeT bl T T 39 & 6
TATH g STateh Fa 11 § ST 3T T57 T o Tt 7 2

03. fg AT AT a1 § STeT bl ATHFAT I 04, IS a7 10T 11 A1 &7 FHATHRT ST T T 3L o o TorT 97| 727 8l
T AT el T T ST 3 o (o7 9a7q
2l

05. =rf3 e 1 =< 11 31 &7 e a7 &7

Solution for Question 68 Ans Key: 4

eng

The data in both statements I and II together are not sufficient to answer the question.

hi

A 1 3T 11 IAT HT [HATHRL STET T HT IAL <A & (o1 TATH A1 2

Q-69

eng

Study the following information carefully and answer the questions given below:

Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:

Who sits second to the right of E?
I. E is an immediate neighbour F who is an immediate neighbour of D.
II. C is an immediate neighbour O who is an immediate neighbour of R.

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to
answer the question.

03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer
the question.



05. If the data in both statements I and II
together are necessary to answer the
question.

Q-69 AEforfed =T F7 LA @ steaae F¢ i A= f2w o werit 3 3= O
hi . . . .
A= fom 0 s wor W UE W @ ST 36 A &1 R w1 1T 1 R ww E) o iy O et § femm mar ster v F swe e w o
TITH & IT Ael| AT FAAT /I TR AT IAL JATo |
E % 374 T 1 93T 872
L E, F T q3d 9211 &, ST D &7 g3 98T 2
IL C, O FT Ed TSN &, ST R FT qd =T &l
01. =f3 Foe [ ¥ 7T T T 3L a4 & forw 02, 7f e [T H STeT % T I o o (o7 aaTe & STafsh o 1§ STeT el 57 T 39 a4 &
TATH g STafeh FA [ H STeT 3Tahel T &7 o gty =1 2
ERRECEA TRk EFI]
03. FFTATATFATIH T el ATFAT I 04. T o [ 30 11 IAT HT FHATHL STET T3 FT IAL &4 & (o107 TA7H A1 2
H STET el W2 T I & o7y oy
2l
05. fx oI [ 37T 11 IAT FT THATHT T 37
ERRECER IS EER ]
Solution for Question 69 Ans Key: 4
The data in both statements I and II together are not sufficient to answer the question.
I [ 3T 11 11 T AT STaT 97 T 3% < o foU 947 "l 2l
Q-70 Study the following information carefully and answer the questions given below:
Each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in
the statements are sufficient to answer the question. Read both the statements. Give answer:
How many persons are sitting in the row?
I. T is sitting second to the right of F who is sitting on extreme end of the row.
IL. Only one person is sitting right of T.
01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to
answer the question.
03. Ifthe data either in statement I alone orin ~ 04. If the data in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer
the question.
0S. Ifthe data in both statements I and II
together are necessary to answer the
question.
Q-70 AT ST T SATAIaS AT Y A7 = {30 10 357 6 39 <o
N A= o T ST W W UE W g S 36 A &7 HAT HwH I 1A 1 R E) i Ay 5 et & e w1y ster v F s e & o
TITH § IT ARl AT FAAT 1 T(R2U ST IAT AN
Tk # fohaw =t 95 §2
L T, F % =73 3% g7 927 & ST 9f<F & sifaw g w31 3l
IL T 374 Fad UF ARE 927 31
01. f & [ § STeT I3 T I & o forw 02, I o 11 H =TT W3 T S o o forT gt & Starfeh e 1§ STeT 3Tohel 97 T 39 ad &
TATH & STafeh FA [ H STeT 3Tahel 97 &7 forT oot 421 81
ERAECE AR RIE K FA ]
03. FfTaTAFATIASETFA ATFAT I 04, 7T FAT [ 37T [ T T THSATHT STT T27 T 3L 24 F {oI0 TATH 21 2
T TTAT el T 7 I &9 o o7 93]
2l
05. arfe e [ 37T 11 A1 HT HeATHT o7 7
IAT I F 1T 9T+ gl
Solution for Question 70 Ans Key: 5
eng The data in both statements I and II together are necessary to answer the question.
hi A [ 3T 11 IEAT HT [HATHRL T HT IAL <A & [0 AFeTF 2

0Q-71

Study the following information carefully and answer the questions given below:



eng
A is 13 m to the south of V. B is 11 m to the south of D. D is 14 m to the north of J. D is 7 m to the west of V. D is 15 m to the east of Z.

In which direction is Z from A?
01. South-east 02. North-west
03. South-west 04. north-east

05. None of these
Q-71 T ST T AT @ Tedd= Y {17 = &0 10 w3t o 392 <o

. A VFHEIATT 13 e f I B,DF AN H 11 Hex FT g I I D, J F 3T H 14 Hex I g I D, VF IfEm § 7 fer fr g e
BID,ZF I H 15 HieT FiT T I 2
Z, AT e e H 82
01. =fgrorgF 02. ITT-ufsm
03. aferor-ufam 04, IqT-TF
05. = & #1E T
Solution for Question 71 Ans Key: 2
eng
V4 15m D 7m V
11m
13m
14m B
2m
1m A
|
bal®
7z 15m D 7m V
11m
13m
14m B
2m
1m A
|
g

Q-72 Study the following information carefully and answer the questions given below:

eng
A is 13 m to the south of V. B is 11 m to the south of D. D is 14 m to the north of J. D is 7 m to the west of V. D is 15 m to the east of Z.

What is the distance between B and D?

01. 13m 02. 1lm
03. 14m 04. Cannot be determined
0S. None of these
Q-72 e STEETT T SATIa AT Y ST = (30 T 357 6 I &Aor:

A VFIFATH [3H T HT T I B, DF AT H 11 Hex HT T IR D, JF IACH 14 e HT T I D, VF IfEH § 7 Hex i g I
ZID,ZF I H 15 HeT i T T

B 3% D % &= T 4T FIT 82

01. 13+ 02. 11+F
03. 144 04. Tyt a5t BT ST waar



05. =% F AL T

Solution for Question 72 Ans Key: 2
eng
Z 15m D Tm V
11m
13m
14m B
2m
1m A
R
J
hi
7z 15m D 7m V
11m
13m
14m B
2m
1m A
s
J

Passage for Question 73, 74, 75, 76, 77 (ST-78 RRBBCL (15-19) 2014)
eng Passage

Study the following information carefully and answer the questions given below.

10 friends, 5 boys (Z, Y, X, W and V) and 5 girls (N, M, L, K and J ), are playing a game and they are sitting at equidistance in a circle. Two boys and two girls
are facing opposite to the centre and rests are facing towards the centre.

* N is fourth to the left of K who is 3rd to the right of Z.

* X is second to the right of V who is not the neighbour of M.

* Three friends are sitting between L and X.

* W is second to the left of J and facing towards the centre. W is not neighbour of V.
* Z and M are sitting opposite and facing to each other.

* L is second to the left of Y.

* N is facing opposite to the centre.

* More than three boys or girls are not sitting together.

* Not more than two friends, who are facing opposite to the centre are sitting together.

hi Passage
TR ST 7 SATTEF AT FE ST A= 37 T 37 3 I <A

10 EET 5 =% (Z, Y, X, WalT V) 3% 5 st (N, M, L, K 377 J) UF g9 | a¥ae g3 T% 9567 UF G, G 7 &1 &1 d2F 3T 2T AfHaf #g F aree
G T3 95 ¢ ST AT aeg #f AT 49 fr g

* N, K 3 970 =TT g ST Z 3 370 S 16T g

* X, V¥ I0 AT ST M FT TSIHT 781 2

* L 3f¥ X 3 HeF o9 I1ed 95 &

* W, I 3 910 THRT & 3T dex Y T @ 36 €1 W,V T 92T 81 2
* 7 3T M fadia 96 € 3T UF ga) 6f A7 79 6 g

* LY % 970 gEeT 81"

* N &% % dTg< T T qa & g

* 1 A= AT ASTHRAT T SATET TF AT Tl 95 gl

* 1Tt & 7T, S % % 9187 9@ 77 8, U 977 781 9% )

Q-73 Which two girls are facing opposite to the centre?
eng

01. LandK 02. KandM



03. NandL 04. KandN

05. None of these
Q-73  FIF T ASTHAT HF H AT TG TRl 22

hi
01. L3iTK 02. KsTM
03. NsTL 04. K3TN
05. =it it 7S Y
Solution for Question 73 Ans Key: 4
eng
hi
2]
- M x
Y ¢
K
Gl P
W Z ()
Q-74 Which of the following are immediate neighbour of each other ?
01. ZandY 02. YandX
03. Vand X 04. WandZ

05. None of these

Q-74  Fm it dr 7 iy safen ww g TS £ 9

01. 73fTY 02. YsiTX
03. V3T X 04. Wiz
05. =8 A FIs Tl
Solution for Question 74 Ans Key: 4

Q-75  Whatis the position of W with respect to Z?
eng



01. Immediate left 02. Immediate right
03. Opposite to Z 04. Second to the right
05. None of these
Q-75 WHEWE ZFA0A 1L
hi
01. g ardg 02. g aTd
03. 7% fauda 04. T TEIT
05. i & 8 T
Solution for Question 75 Ans Key: 1
eng
hi
M? L
\;{-- X
KE
L 1
w Z¢
Q-76 How many persons are sitting between W and Y ?
01. Four 02. Three
03. Two 04. One
05. None of these
Q-76  WIRT Y F & # foraw =4f<h 9 82
01. =T 02. i
03. =7 04. TF
Ans Key: 3
Q-77 Which two boys are facing opposite to the centre ?
eng
01. XandY 02. YandZ
03. XandV 04. Xand W
05. None of these
Q-77 FAAINASH %% % ATGL T FH 9 27
hi
01. X3y 02. Ys3fiTZ
03. Xs3fTV 04. X3TW
05. i & 8 T
Solution for Question 77 AnsKey: 1
eng &
@ Moy
K(-}
(-}N - V ]



Passage for Question 78, 79, 80, 81, 82 (ST-77 RRB PO PRE (Q-26-30)2017)
eng Passage

Study the following information carefully and answer the questions given below:

more than three.

P is going to France and is travelling in SpicelJet.

F is going to Bhutan and is travelling in JetLite.

Jis going to Chile and is traveling in JetLite.

The one who is travelling in Air India is not going to Sri Lanka or Denmark.
G and A are going to Sri Lanka and India respectively.

The flight of P and N is same and no other friend travelling in the similar flight.

hi Passage

afafaT AT T ATALEF 87T H T FRTTIT AT F IS

Eight friends A, B, F, E, G, J, N and P are going to different countries viz. Sri Lanka, India, China, Bhutan, Chile, Denmark, France and Greece but not necessarily
in the same order. Each of them is travelling in different flights JetLite, SpiceJet and Air India. The number of friends who travel in flight is not less than two and not

M3 IET A, B, F, E, G, J, N 31T P # & Y SToT-31eT 297 AT #feiaht, S, <, qem, (Hett, SA9mh, e e | o1 7 & ofehe ste<t 72t foF 2oy
R T Zl1 STH | TAF AoNT-AT FATSE SATSE, TATSHIE ¥ TALS AT & ATAT Fd gl T af FoATSS H TTAT F4o FTeT STea 200 HedT a7 & F7 AT

A 7 srferr 7T 2

P Whid ST 72T 2 i TarseSe § J7=7 ¥ 12T 2

F 2T ST T&T & ¥ Siedrse § AT FT 2T 2l

J F=reft ST 72T § ST SedTse | ATAT 7 7T &

g =R S AR AT & ATAT 7 @7 & < IT 79T 781 1 72T 2

G 3T AFHT: 2fiihT ¥ =T o @1 8l

P 3T N U &I FATSE H ATAT T T & AT 3177 e T I1ed 8 FATSE | ATAT 751 2 2

Q-78  Which of the following Country did N go?

eng
01. Denmark 02. France
03. Bhutan 04. SriLanka
05. India

Q-78  TAwfortad § & N o Zor & 7797 F2ar 22

hi
01. TA9TH 02. wig
03. s 04. sfiereT
05. =feay

Ans Key: 1

Q-79  Who s going to Greece?
eng

01. B 02. E
03. A 04. p

05. EitherBorE
Q-79 THFASATTRTZ?



01. B 02. E

03. A 04. p
05. FTABATE
Ans Key: 5
Q-80  Which of the following is a correct combination?
eng
01. A - Air India - Bhutan 02. F - JetLite - India
03. P - SpiceJet - Denmark 04. G - JetLite - Sri Lanka
05. N - SpiceJet - India
Q-80 fAwforfad | & #1 &1 §ATeT dat 872
hi
01. A-—TaTEfRaT - g 02. F - Sfzerrze - EfEar
03. P - TTSH Se - ARTH 04. G - SeaTEe - et
05. N - ¥qT=HSe - 3T
Ans Key: 4
Q-81 Who among the following pairs of friends travelling in JetLite ?
01. N,P,J 02. F,G,J
03. N,P,G 04. N, A,P
05. A,B,G
Q-81 wforfead § & #:19 & =4f<h Searze § a7 Fd 82
01. N,P,J 02. F,G,J
03. N,P,G 04. N,A,P
05. A,B,G
Ans Key: 2
Q-82 Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?
01. B- AirIndia 02. E-Bhutan
03. P - Denmark 04. J-Sri Lanka
05. A - Air India
Q-82 & U FedT F e ¥ AeAfertEd arr § § =/ R T 7 9 § TH o SAET UF S a9dT1 § 98 A 97 g S 57 948 § T8l Arar g ?
01. B-wxzEfeaT 02. E -z
03. p-3uTH 04. - et
05. A-maEfea
Solution for Question 82 Ans Key: 5
eng PERSON COUNTRY FLIGHT
A INDIA AIR INDIA
B CHINA/GREECE AIR INDIA
F BHUTAN JETLITE
15 CHINA/GREECE AIR INDIA
G SRILANKA JETLITE
J CHILE JETLITE
N DENMARK SPICEJET
P FRANCE SPICEJET
hi 1A W FATEE
A HERI TIE AT
B ST LREEIERI
F T SedTzE
E HAE TIERAT
G CiEEal SEATEE
J et SEerEe
N T TS
P HE TTEHSE



Passage for Question 83, 84, 85, 86, 87 (ST-170SBICLERKPRE (66-70) 2019)
eng Passage

Study the following information carefully and answer the questions given below:

In a certain code,

‘GOOD GOT DOG?’ is written as ‘P2D B2D S3E’,

‘BUT GREAT DEAL’ is written as ‘C3D K3E D4F’,

‘NOT GOT GREAT’ is written as ‘K3E B2D R5T’ and
‘WHAT GOOD DEAL’ is written as ‘H8U C3D P2D’. Then...

hi Passage

Reforfd ST 7 SAIE® Teaae F: 3T A= [0 70 377 % 392 o

T g ATITH

‘GOOD GOT DOG’ #T ‘P2D B2D S3E’,

‘BUT GREAT DEAL’ T ‘C3D K3E D4F’,

‘NOT GOT GREAT’ #T ‘K3E B2D R5T’ 3T

‘WHAT GOOD DEAL’ &1 ‘H8U C3D P2D’ fer@ar sirar g arv ...

Q-83 What is the code for ‘NOT’ in the given code language?

01. K3E 02. B2D
03. RST 04. H8U
05. P2D

Q-83 =it FrE WUT H “NOT’ & forg Fr #7e 82

01. K3E 02. B2D
03. RST 04. HSU
05. pP2D

Solution for Question 83

WORD/2Teg CODE/?Teq

GOOD P2D
GOT B2D
DOG S3E
NOT R5T
GREAT K3E
BUT D4F
DEAL C3D
WHAT H8U

Ans Key: 3

WORD/2s¢ | CODE/2sg

GOOD P2D
GOT B2D
DOG S3E
NOT R5T
GREAT K3E
BUT D4F
DEAL C3D
WHAT H8U

Q-84  Whatis the code for ‘BUT” in the given code language?

eng

01. D4F 02. C3D
03. RST 04. K3E
05. H8U

Q-84 =TT FIE AIOTH ‘BUT F forg = #rE 2?



eng

01. D4F

03. R5T
05. HSU
Solution for Question 84
WORD/2ISG | CODE/2Tsg
GOOD P2D
GOT B2D
DOG S3E
NOT R5T
GREAT K3E
BUT D4F
DEAL C3D
WHAT H8U
WORD/25G | CODE/2Teg
GOOD P2D
GOT B2D
DOG S3E
NOT RST
GREAT K3E
BUT DAF
DEAL C3D
WHAT H3U

Q-85

02. C3D
04. K3E

What is the code for ‘GOT’ in the given code language?

01. P2D
03. R5T
05. H8U

& fY Fre wTaT A <GOT F foru FT e 22

01. P2D
03. RST

05. H]U

Solution for Question 85

eng

WORD/2Ts& | CODE/2reg
GOOD P2D

GoT B2D

DOG S3E

NOT RST
GREAT K3E

BUT DAF

DEAL c3p

WHAT H8U
WORD/2Ts& | CODE/2rsg
GOOD P2D

GOT B2D

DOG S3E

NOT RST
GREAT K3E

BUT DA4F

DEAL c3p

WHAT H8U

02.
04.

02.
04.

B2D
K3E

B2D
K3E

Ans Key: 1

Ans Key: 2



Q-86  Whatis the code for ‘WHAT’ in the given code language?

eng
01. R5T 02. pP2D
03. S3E 04. C3D
05. H]U
Q-86 =T T FIE AIUT H ‘WHAT & o =7 e 82
hi
01. RST 02. pP2D
03. S3E 04. C3D
05. HSU
Solution for Question 86 Ans Key: 5
Fus WORD/3le§ | CODE/3leq
GOOD P2D
GOT B2D
DOG S3E
NOT R5T
GREAT K3E
BUT DAF
DEAL C3D
WHAT H8U

WORD/2Ieg | CODE/2Teg

GOOD P2D
GOT B2D
DOG S3E
NOT RST
GREAT K3E
BUT D4F
DEAL C3D
WHAT H8U

Q-87  Whatis the code for ‘GREAT’ in the given code language?

01. R5T 02. K3E
03. D4F 04. E3K
U5. F4T
Q-87 =TT FIE 9TOT H ‘GREAT & forg =1 e €2
hi
01. RST 02. K3E
03. DA4F 04. E3K
05. F4T
Solution for Question 87 Ans Key: 2
= WORD/2Ts§ | CODE/2Tsg
GOOD P2D
GoT B2D
DOG S3E
NOT RST
GREAT K3E
BUT DAF
DEAL c3D
WHAT H8U




hl WORD/2TsG | CODE/2Tsg

GOOD P2D
GoT B2D
DOG S3E

NOT RST
GREAT K3E
BUT DAF
DEAL C3D
WHAT H8U

Passage for Question 88, 89, 90, 91, 92 (ST-170SBICLERKPRE (71-75) 2019)
eng Passage

Study the following information carefully and answer the questions given below:

Twelve persons are sitting in two parallel rows containing six persons in each. In row 1- A, B, C, D, E and F are sitting and all of them are facing south. In row 2- P,
Q,R, S, T and U are sitting and all of them are facing north. In the given seating arrangement, each member seated in a row faces another member of the other row
but not necessarily in the same order.

C is not sitting on extreme end of the row. S sits third to the left of P who is an immediate neighbour of T. Only two persons are sitting between E and F. B sits
second to the right of D who sits on extreme end of the row. More than 3 persons are sitting between S and U. C is not facing to Q. Neither E nor F is sitting on
extreme end of the row. A is not an immediate neighbour of E.

hi Passage

oo

Mo ST &7 eI Oa s Tedd= < 3iY A= 3w 70wt & 397§

qE ATh &1 AL AT § 98 8 e woi® § 6 =<k g1 Uik 1 #- A, B, C, D, E &I F 4T aferor &1 i @ &% 98 g1 U 2 °- P, Q,R, S, T
ST U; 9ft I T T @ w0 9 21 & TS Ao AT AT 7 F ATHTE, U Uik § T3T ToiT T2, AL Uik & (hH] o Haed & 319 qTH 927 8,
AT STEAT gl 1o THT A H

C |f<F % SIfa" R T 72! daT 1 S, P & a3 T8 #4719 92 €, ST T T U 2 TS 6l 2| E ST F % 91 § & &l A 9 &1 B, D % a1 | ga¢ &I
T FoT 8, ST 4fE F Y v sifaw g o 331 281 S 3T U i 3 F afdres =afe &% €1 ¢, Q % AT q@ % A8t J31 21 AT E ST AL F, iR F
faw FIT 97 327 21 A, E T A TSET 781 2

Q-88 How many person sits between F and C?

01. None 02. 3
03. 2 04. 1

05. None of these.
Q-88  F =T C ¥ i ffaw =aftr 45 2

01. Fréast 02. 3
03. 2 04. 1
05. Zei & S AT
Solution for Question 88 Ans Key: 1
eng A F C B E D
VOV OV VYV
S O
S Q R T P U
hi A F C B E D
V.V VYV VY
A A AN AN AN A



S Q R T P U

Q-89  Who among the following sits third to the right of E?
eng

01. F 02. B
03. C 04. A

05. None of these.
Q-89 wforiad § ¥ 19 E F a3 3T qE 971 872

hi
01. F 02. B
03. C 04. A
05. 2 iy v
Solution for Question 89 Ans Key: 1
eng A F 4] B E D
S Q R T P [
A F ¢ B E D
S Q R T P U
Q-90 Immediate neighbour of U faces to whom among the following?

01. A 02. B
03. C 04. D

05. None of these
Q-90 U =T T TE T, Fafertad # & et A 7@ #2 92182

01. A 02. B

03. C 04. D

05. gt & 15 A
Solution for Question 90 Ans Key: 5
eng A

> <A = 2 <Ao

B
2 ¢ ¢ ¢
S
D0 g g

‘= <> <A



Q-91 Four of the following five are alike in a certain way based on their seating positions and so form a group. Which of the following is different from the group?

eng
0. AQ 02. CT
03. BT 04. ET
05. DP

Q-91 f=forfad 9= § & 912 19 I3 7 AT F a9 q01 8 oY TH0 UF T4 a97d | Heerad § i q9g 7 97T &2

01. AQ 02. CT

03. BT 04. ET

05. Dp
Solution for Question 91 Ans Key: 3
eng A F

B G b <
= > <dq ==> <o
—-=> <d= -=> =
s < > <
==> <A «=> <de

e =

Q-92 How many person sit/sits between second to the left of P and T?

01. None 02. Ji
03. 2 04. 3

05. None of these.
Q-92  PHATH AT AL AT T a1 o Af<h 9 2/2?

01. =< T2l 02. |

03. 2 04. 3

05. =% A F1E AL
Solution for Question 92 Ans Key: 1
eng
hi

> <l <

T
.
T
.

D I R
> e D <
> < > <-
> <o B> <H-




Passage for Question 93, 94, 95 (ST-170SBICLERKPRE (81-83) 2019)
eng Passage

Study the following information carefully and answer the questions given below:

5 Boys- S, T, U, V and W; each have different number of Box.
W has less boxes than only V. T has 10 Boxes. U has 17 boxes more than S who has 5 boxes. V has more than 25 boxes.

hi Passage

Referfd ST 7 SAIE® Teaae F: T A= [0 70 377 % 3¢ o

5dgH- S, T, U, V 3T W; Teaeh o a1 Torar- ey e  af 2
W F I &ae V H FF qia g1 TF 919 10 Fi 81 U F 99, S & 17 Fi oTfera 8, fomes ame 5 i g1 'V F I 25 | S[fere aiad gl

Q-93  How many boxes U have?

eng
01. 44 02. 28
03. 27 04. 22
05. 37

Q-93 U 9 fhaw af = g2

01. 44 02. 28
03. 27 04. 22
05. 37

Solution for Question 93 Ans Key: 4
Vv W U T S
25+ 23/24 22 10 5
Vv W ] T 5
25+ 23/24 22 10 5
Q-94 U have more boxes than persons.
eng
01. 2 02. |
03. 4 04. 3
0S. Cannot be determined
Q94 UFTH SATRAT o TTerF a2l
hi
01. 2 02. 1
03. 4 04. 3
05. fReifea 7t foam St &sar
Solution for Question 94 Ans Key: 1
cng v w U i S
25+ 23/24 22 10 5
B v w U T S
25+ 23/24 22 10 5

Q-95  How many boxes W have?

eng
01. 27 02. 23
03. 29 04. 19
05. 38

Q-95 W qre e ate £



01. 27 02. 23
03. 29 04. 19
05. 38
Solution for Question 95 Ans Key: 2
= v w u T S
25+ 23/24 22 10 5
B v w u T S
25+ 23/24 22 10 5
Q-96 Study the following series carefully and answer the question given below.
eng
24856b13@6452#9713<3f402687054*%32g9%316537#986
If all the symbols are dropped from the above arrangement, which of the following will be the 15th from the right end of the above arrangement?
01. 5 02. 3
03. 7 04. 1|
05. None of these
Q-96 fAwfafeag gEATHT AL F AeqIT L MTA= FRTAIT AT FTIIACR
24856b13@6452#9713<3f4026870©54%32g9816537#986
71t fy TRl T ST s7aedT | gaT (a7 Srar 2,41 Referferd & & i |7 SURI<h s7&edT  aTigd | 7 15 a7 ge?
01. 5 02. 3
03. 7 04. 1
05. it & FrE
Solution for Question 96 Ans Key: 3
75432g916537986
=
15th from right end if all symbals are dropped
75432g916537986
——r—— TR T .
15th from right end if all symbaols are dropped
Q-97  Study the following series carefully and answer the question given below.
24856b13@6452#9713<3f402687054*%32g9816537#986
How many perfect squares are there in the above arrangement, each of which is immediately preceded by an even number? (One is also a perfect square).
01. One 02. Two
03. Three 04. Four
05. None of these
Q-97 faufafaa gaar w1 samagds Aegga & {AT A= fRyagygFrIad)
hi
24856b13@6452#9713<3f402687054*%32g9%516537#986
UL AT | fohae qof =T 2, 8 & e & i 09 U 99 He&3T T@T 1347 82 (1 TF 07 390 8)
01. uw 02. =7
03. o= 04. =X
05. =it i 7S
Solution for Question 97 Ans Key: 2
eng 24,64
hi 24,64

0Q-98

Study the following series carefully and answer the question given below.



eng

24856b13@6452#9713<3f402687054*%32g9816537#986

How many symbol are there in the above arrangement each of which is immediately followed by perfect square (one is a perfect square)?

01. One 02. Two
03. Three 04. Four
05. Five

o faa o #1 samgds AsggT F AT FAgagrgwrIacd)
24856b13@6452#9713<3f4026870©54%32¢g9816537#986
UL AT | oo Teiia & TSH F Todsh &l 2 918 av & (1 TF 0 a0 8)?

01. U% 02. =7
03. fiT 04. =TT
05. 9=
Solution for Question 98 Ans Key: 3
eng #9,81,#9
#9,81,#9
Q-99 Study the following series carefully and answer the question given below.
24856b13@6452#9713<3f402687054%32g9816537#986
How many such numbers are there in the above arrangement, each of which is immediately preceded by a consonant and immediately followed by a
vowel?
01. One 02. Two
03. Three 04. Four
05. None of these
Q-99 fufafag gear w1 eamyd® segga R TR AT FrITT)

24856b13@6452#9713<3f402687054%32g9816537#986

ST SHAEAT # TH el §eaTd 8, SH | T73% * 420 Teol 249 af T Q2 a8 ¥ gl ?

01. T 02. =7
03. i 04. =TT
05. =% T HIs A5l
Solution for Question 99 Ans Key: 1
eng F40
hi F40
Q-100 Study the following series carefully and answer the question given below.
eng
24856b13@6452#9713<3f4026870©54*32g9%$16537#986
Which of the following digit/symbol is second to the right of the 10th from the left end?
01. 6 02. 4
03. 5 04. 3
05. None of these
Q-100 frefafag gEaT w1 eaId® sreqaa L AT A= FRTATITFIITTR
hi

24856b13@6452#9713<3f4026870©54%32g9$16537#986
fAeferfed & & i a1 siw / wefish 910 S & 10 3 % 378 1Y AT 82

01. ¢ 02. 4
03. 5 04. 3



05. =z & FrE TS

Solution for Question 100 Ans Key: 3
eng 24856b13 @645
[-]
10th from beft end
2nd right
hi 24856b13 @645
[ ]

10th from beft end
Znd right



